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I. (a) Show that the standard deviation of a given series is independent of the
change of origin but not of scale. '

(b) In a certain examination 100 students appeared. The results of those who
failed are given below :

PTO.
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(c)

(b)

()

2
Marks Number of Students

5 4
10 6
5 8
20 ¥
25 3
30 o2

30

If the average marks of all students is 68.6, find out average marks of those

who have passed in the examination.

For a distribution, N = 20, Karl Pearson’s Co-efficient of skewness (based

on median) = —0.84 and Co-efficient of variation = 40%. Sum of the squares

of given values is 14,500. Compute the value of median and mode.
(3,3.5)

OR

Define moments. Establish the relationship between moments about arbitrary

origin and central moments.

A set ‘of 50 numbers has mean and standard deviation equal to X and o
respectively. If each of the values of the set is multiplied by 45, the coefficient
of variation works out to be 25% while if each value of the set is increased
by 45, the coefficient of variation becomes 16%. Find the values of X and
C.

Find two numbers whose geometric mean is 18 and arithmetic mean is 19.5,

Also, calculate their harmonic mean. ' (5,5,5)
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5 4
10 6
15 8
20 7
25 3
30 2
30

——
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2. (a) State and explain the properties of coefficient of correlation.

(b) Given the trend equation :
Y, = 36,000 + 2,160 X
(Origin: 2015, X unit : 1 Year, Y Unit : Annual Production)

P10,



5544

(c)

(a)
(b)

4

(1) Convert the above given equation on a quarterly basis and also shift
the origin to first quarter of 2016.

(ii) the equation on monthly basis and shift the origin to March 2015.

For a normal distribution, the first moment about 12 is 28, and the fourth
moment about 40 is equal to 1,875. Compute coefficient of variation of the
distribution. = .39

OR
Explain Poisson distribution and also write its characteristics.

In a company, it is found that the probability for a worker who attended to
training programme to meet his production target is 0.92 while for a worker
who did not attend the programme the probability is 0.42. If 72 of the
workers have attended the training programme, what is the probability that
a randomly selected worker would meet the production target ? If a randomly
selected worker has met the production target, what is the probability that
he did not attend the training programme ?

The coefficient of rank correlation of marks obtained by 10 students in
Statistics and Accountancy is 0.2. It was discovered later that the
difference in ranks of two subjects obtained by a student was wrongly
taken as 9 instead of 7. Find the correct value of the rank coefficient of
correlation. (3,5.5)
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“Complementary events are mutually exclusive but mutually exclusive events

may not be complementary”. Explain with the help of suitable examples.

In a normal distribution, 10% of the items are under 35 and 90% are under
63% ? Find out mean and standard deviation of the distribution.

The coefficient of correlation between two variables X and Y is 0.64.
Their covariance is 16. If variance of X is 9, find the standard deviation of
Y series. (5,5,5)

OR

Distinguish between fixed base index numbers and chain base index numbers.
Under what circumstances chain base index will be preferred ?

VS ]



(c) A regression equation of marks in Statistics (X) on marks in Accountancy
(Y) for a class of 50 students is }

(i) Coefficient of correlation between marks in Statistics and Accountancy
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4. (a)
(b)
(a)
(b)

.
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Obtain mean:and standard deviation of a binomial distribution for .

P, = 16 P, and N = 10

(3

Find the seasonal variation by ratio to trend method from the data :
Year Quarter 1 Quarter 11 Quarter 111 Quarter IV
2011 60 80 72 68
2012 68 104 100 88
2013 80 116 108 96
2014 108 152 136 124
2015 160 184 172 164
(6,9)
OR

A project yields an average cash flow of Rs. 550 lakhs and standard deviation
of cash flow is Rs. 110. Calculate the following probabilities assuming the

normal distribution :
(i) Cash flow will be more than Rs. 675 lakhs;
(i) Cash flow will be less than Rs. 450 lakhs;

(iiiy Cash flow will be between Rs. 425 lakhs and Rs. 750 lakhs.
The production of a commodity during 2010-2015 is given below, fit a

second degree parabola to these data and estimate the production for the

year 2017 :

P.T0:
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152 136 124
2015 | 160 184 172 164
Jrerar
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.
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5. (a) Given that Xp q, =250, Xp,q,= 150, Paasche’s index number =150 and
Dorbish & Bowley’s index number = 145. Find out

(1) Fisher’s ideal index number; and

(i) Marshal — Edgeworth’s index number.

(b) Explain the Statistical Decision Theory and highlight its important
components. (9,6)

OR

(a) A decision maker is faced with three decision alternatives and four states of
nature. We are given the following profits pay off table :

Acts S, 50 S, S,
Al 16 10 12 7
A2 13 12 9 9
A3 11 14 15 i

Assuming that he has no knowledge of the probabilities of occurrence of the
state of nature, find the decision to be taken by each of the following criteria:

(i) Maximin
(i) Maximax
(1)) Minimax Regret

(b) What is ‘Cost of Living Index” ? What purpose does it serve ? (9,6)

(%) fean @ 2 & $p q, =250, Ip,q, = 150 T goewies = 150 3R S o A
THAEH = 145, Fd Hilg :
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Al 16 “10 12 7
A2 [3 12 9 9
A3 11 14 15 14
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TABLE II. VALUES OF e (0 < A < 1)

0.0 |1.0000  .9900 9802 9704 9608 9512 9418 9324 9231 9139
0.1 | .9084 8958 8869  .8781  .8694 8607 .8521 8437 © 8353 8270
02 | 8187 8106  .BO25 - .7945 7866 7788 7711 7634 7558 7483
03 | 7408, .7334 - ' T261 7189 7118 7047 6977  .6907 6839  .6771
04 | 6703 6636  .6570 6505 6440 6376 6313 6250 6188 6126
05 | 6065 _ 6005 .5945 5886  .5827 ! 5770 5712 5655 5599 5543
0.6 | 5488 5434 5379 = 5326 . 527 5220 ~ 5169 ' 5117 - 5066 = 5016
0.7 | 4966 4916 4868 4819 477 4724 4677 4630 4584 4538
08 | 4493 4449 4404 4360 4317 4274 4232 4190 4184 4107
09 | 4066 4025 3985 3946 3906 3867 3829 3791 3753 3716
A=1,23,..10)

36788

13534 04979 01832 00674 002479

00091 1.C

coowwm ooo 1 Nu oooo.»m

ZQR.. .H.o OUB_: values of e

“*for other values of A, use the laws of mxvr:mbﬂm. For mxmaﬁ_m 23 =
) =(.13534) (.7047) = .095374

_.
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TABLE III. AREAS UNDER STANDARD NORMAL CURVE
The entries in the table are the probabilities that
a random variable having the standard normal
distribution assumes a value between 0 and z:
they are given by the area under the standard
normal curve shaded in the figure shown on the
right-hand side.

Areas under Standard Normal Curve

Z=0

Z
Z

0.00

0.01

002] "

003

- 004

0.05

0.06

- 0.07

0.08

0.09

0.0
0.1
0.2
03
0.4
05
0.6
0.7
0.8
0.9
1.0
1.1
1.2
1.3
1.4
15
1.6
&7
1.8
1.9
20
2.1
22
23
2.4
25
2.6
2.7
2.8
29
30
3.1
32
33
3.4
35
36
31
38
39

0.0000
0.0398
0.0793
0.1179
0.1554
0.1915
0:2257
0.2580
0.2881
0.3159
0.3413
0.3643
0.3849
0.4032
04192
04332
0.4452
0.4554
0.4641
04713

04772

0.4821
04861
0.4893
04918
0.4938
0.4953
0.4965
0.4974
0.4981
0.4987

04990

0.4993
0.4995
0.4997
0.4998
0.4998
0.4999
0.4999

0.0040
0.0438
0.0832
0.1217
0.1591
0.1950
02291
0.2611
02910
0.3186
0.3438
0.3665
0.3869
0.4049
0.4207
0.4345
0.4463
0.4564
0.4649
0.4719
0.4778
0.4826
0.4864
0.4896
0.4920
0.4940
0.4955
0.4966
0.4975
0.4982
0.4987
0.4991
0.4993
0.4995
0.4997
0.4998
0.4998
0.4999
0.4999

0.5000

0.5000

0.0080
0.0478
0.0871
0.1255
0.1628
0.1985
0.2324
0.2642
0.2939
0.3212
0.3461
0.3686
0.3888
0.4066
0.4222
0.4357
0.4474
0.4573
0.4656
0.4726
0.4783

0.4830

0.4868
0.4898
0.4922
0.4941
0.4956
0.4967
0.4976
0.4982
0.4987
0.4991 -
0.49%4
0.4995
0.4997
0.4998
0.4999
0.4999
0.4999
0.5000

0.0120
00517
0.0910
0.1293
0.1664
0.2019
02357
0.2673
0.2967
0.3238
0.3485
0.3708
0.3907
0.4082
04236
0.4370
0.4484
0.4582
0.4664
0.4732
0.4788

04834

0.4871
04901
0.4925
0.4943
0.4957
0.4968
0.4977
0.4983
0;4988

04991

0.4994
0.4996
0.4997
0.4998
0.4999

04999

04999
0.5000

0.0160
0.0557
0.0948
0.1331
0.1700
0.2054
0.2389
0.2704
0.2995
03264
0.3508
03729
0.3925

0.4099

04251
0.4382
0.4495
0.4591
0.4671
04738
0.4793
0.4838
0.4875
0.4904
0.4927
0.4945
0.4959

0.4969

0.4977
70.4984
0.4988
0.4992
0.4994
0.4996
0.4997
0.4998
0.4999
0.4999
0.4999

0.5000

0.0199
0.0596
0.0987
0.1368
0.1736
0.2088
0.2422
02734
0.3023
0.3289
0.3531
0.3749
0.3944
04115
0.4265
0.4394
04505
0.4599
0.4678
04744
0.4798
0.4842
0.4878
0.4906
0.4929
0.4946

0.4960 .
-0.4970

0.4978
0.4984
0.4989
0.4992
0.4994
0.4996
0.4997

'0.4998

0.4999

0.4999

0.4999
0.5000

-0.4961

- 0.4999

0.239
0.0636
0.1026
0.1406
0.1772
0.2123
0.2454
0.2764
0.3051
03315
0.3554
0.3770
0.3962
0.4131
0.4279

0.4406_] 0.4418

04515
0.4608
0.4686
0.4750
0.4803
0.4846
0.4881

- 0.4909 | 0.4911

0.4931
04948

0.4971
0.4979
0.4985
0.4989
0.4992
0.4994
0.4996
0.4997
0.4998

0.4999
0.4999
0.5000

0.0279
0.0675
0.1064
0.1443
0.1808 -
0.2157
0.2486
0.2794
0.3078
0.3340
03577

0.0319
00714
0.1103
0.1480
0.1844
0.2190
0.2517
0.2823
0.3106
0.3365
0.3599

0.3790
0.3980
0.4147
0.4292

0.4525 |
0.4616
0.4693
0.4756
0.4808
0.4850
0.4884

0.4932
0.4949
0.4962
0.4972

04979 1

0.4985
0.4989
04992
0.4995
0.4996
0.4997
0.4998
0.4999
0.4999
0.4999

0.3810
03997
04162
0.4306
| 0.4429

04535
0.4625
0.4699
0.4761
04812
0.4854
0.4887
0.4913
0.4934
0.4951
0.4963
04973
0.4980
0.4986
0.4990
0.4993
0.4995
0.4996
04997
0.4998
0.4999
0.4999
0.4999

0.5000

0.5000

04441

104997

0.0359
0.0753
0.1141
0.1517
0.1879
02224
0.2549
0.2852
03133
0.3389
03621
0.3830
0.4015
0.4177
04319

0.4545
0.4633
0.4706
0.4767
0.4817
04857
0.4890
049161
0.4936
04952 |
04964 | |
04974
04981
0.4986
0.4990
0.4993
04995

04998
0.4998
0.4999
0.4999
0.4999
0.5000

(1000)



()

©

. Note : —

| oot -

his question paper contains 4+2 printed pages|

Roll No.
. No. of Question Paper : 5548.
Jnique Paper Code : 241206 F
Name of the Paper . Corporate Laws
Name of the Course . B.Com. (Honours)
Semester 1
Duration : 3 Hours ¥ | _ Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)

T(WW—W%W@WmWﬁuﬁwmmaﬁmﬁwO

Answers may be written eifher in English or in Hindi: but the same medium should

be used throughout the paper.
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1 W TE A A AR
Attempt all questions exercising the available internal choice.
ooty s FEE w1 oA e gy et e # SW AT

What is a ‘corporate veil’ ? Under what circumstances is it pierced by court ?

w

Write a note Licenced Company. 5

Define a Government Company. State its special features. How far is it governed by

Companies Act, 2013 ? 5

P.T.O.



(@ T e (corporate veil) e T 2 fom IR F =gy ST 39 fages

(b) WWWWWWWI
© wﬁmﬁaﬁmﬁaﬁvﬁwﬁmﬁﬁqlsﬂﬁmﬁﬁmw;mﬂa

Or
(31eram)

(x) “A Company is an artificig] person created by law with a perpetual succession and .

common seal.” Comment op the statement. <
») Who may call an Extraordinary General Meeting ( EGM) ? 5
(2) - “Explain Turquand” Ryle. State its exceptions. 5

(x) “ww#ﬂnwﬁm,wﬁmﬁfﬁamawwwafmww

() TR TmEey Sas (EGM) %1 e waray & - E
@) m%ﬁwaﬁ-mﬁmammﬁﬁwm

(@) Write a note op shelf proSpectus. : 5
(b) State the conseqpences of false and misleading Statements in g prospectus. 5

(¢) Explain the statutory provisions regarding valid allotment of shares under Companies Act



)

(2)

(x)

)

(=3 ) 5548

MY 9UeE (shelf prospectus) W T feoqofi fafed
UEERE § g3 3R 9fia &R & ufomdt i sme it

FHAN AHHEE, 2013 & A A9 % Ot oieen & e ¥ Jufis geeEn
=1 ol SR

Or
(31erem)

What do you mean by quorum ? What are the provisions regarding quorum while

conducting General Meeting as per Company Act, 2013 ? e

Mr. Vivek purchased 1000 shares of XYZ Ltd. from his friend Mr. Bibhu. Later on
Mr. Vivek discovered that the prospectus contained a misleading statement. What legal

-

remedies are available to Mr. Vivek against the company and its directors ? )

What are the rights and obligations of *depository’ and ‘participants’ under the Depository

Act, 1996 ? 5

Torfd (quorum) W TR W AT ¥1 wES Ay, 2013 & SER FHE
d93% ¥ Huer & fou Togfd & gaum s § 2

fa. fodew 3 o1 fyst fay @ Xyz fa. & 1000 i =i = & fo. foos =
T N fF AeRE d w9 wEA o g 31 . fose o e @ deesn

& fovg =1 JuF ITER U™ ¥ 2

fenfa=tt atfuf=m, 1996 & sraria fedifsedl IR Tewifmal & =1 stfusr i
Fe T2 |

P.T.0.
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(h)

(a)
(b)

(©)

(x)

)

(@)

(x)
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Write a note on the concept of ‘Book Building’. : 5
“No dividend can be paid by a company except out of profits.” Elucidate. 58

Explain the provisions of Companies Act, 2013 regarding holding of an Annual General
Meeting (AGM) of the company. 3
N

g M %39 (Book Building) T #faMmon W ek fewqolt i)

"wmﬁmﬁmww%ﬁwwqﬁmwwmw#ﬁm

I
j

mﬁaaqfaﬁm,zms%mwmmmﬁﬁaﬁmwamwn :’

(}r.

A

(3t

Distinguish between Memorandum and Articles of Association of a public ¢

company. : 5 §

Explain the provisions of the Company Act, 2013 regarding “proxies” at general

meetings. 5

What is meant by the term ‘Bonus Share® ? Explain the provisions for the issue of bonus g

shares by a company. 5
T WESh wE e detee ek st § s it

W 93 g B URGH ® wer § s sfufem, 2013 8 wEee @
U HifTT |

‘aﬁwaim'mﬁamafum%?mﬁrmmmﬁ%wm%maﬁ
H AT FHIfT |




(b)
(c)

(@)

(x)

)

&

(9 ) 5548

Explain the provisions rélé'tir;lglto appointment of directois of a public company. 5

Define producer companies. State its main objectives in brief. 3
Who can be appointed as an independent director in a company ? Explain. 5
wuﬁaﬁmmﬁ%ﬁﬁﬁﬁﬁgﬁa%mﬁmmﬁmwmn

e FERE @ e w4 § e g SR quid it

@m%mmiwﬁﬁﬁwﬁm%i?mﬁml

Or
(3rere)
Write a note on Investor Education and Protection Fund. | 5
Distinguish between ‘Ordinary Resolution’ and ‘Special Resolution’. 5

Explain ‘Declare;tion of Solvency’ in relation to voluntary winding up of a company. 3
fafde fren ol wRem wm W T ool fafed

‘oo v e ‘fade wRaE’ # SRR RifS |

FUF & Wiess qaTE & ey § foerashd 9o (Declaration of Solvency) I

U I |

P10



(6 )

5.  Write explanatory qotes on any three of the folllowing :
{a) Shelf prospectus
(h) One Person Company (OPC)
(¢) Secretarial Audit
(d) Tllegal Association.
frefafen & ¥ fodl 99 W oo foufrel fafa -
(@) Ty 9y
(b) TH =AfF FIE (OPC)
(c) Hfeda sihem
(d) Rt |59

. 5b48 6
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: -:No'm.— Amwers may be written either in Enngh orin Hmdz, but the same medmm should be
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o Allquemons m to be attcmpted. Part (a) of cach quesaan is compulsary X

e Arrcmpr_an ‘three out of the | rcmammgpam

Ww&éﬁt:ﬁﬁﬁsﬁamqfam#m&:mmﬁmmwe:
e ﬁwmwwahwa-mmm

I.. (a) Choose the correct answer and glve bncf reason(s) for your chome
(M) Govemment s Expendlture on transfer payments a0
(})Are excluded ﬁ'om the measuremcnt of GDP

(3)c+I+G+X M o
(4)C+I+G+X+M 2 marks
- Turn over
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‘Depreciation B o 50
Receipt of factor income from rest of world - e
Government Consumpnon and mvestment expendxture 275
Imports:. = e i e 50
Payments of factor i mcome to the rcst of the world R
Pcrsonal mterest mcome from govemment VL e

Net prlvate domestlc mvestment > S00: - :

,."Personaltaxes j el

ports;

(3) GDP (4) GNP

. productxon aﬁd prices of gao '_ "A?ja'nd B ;for car and 2

Pnce per umt

rmﬁwaﬁwm?ﬁﬁmmmél
(ﬁ)wwwmﬁrm S

A i

a.nd B lecn the follomng mfonnanon on : i
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(1) ® GDP & #ua & 3uafefa w&r wrar &
(2)® GDP & @ ¥ wfiier fovar o &
- (3) 98 7 3 w9 A GDP & 7w ¥ wfiver frar T &
(4) TR ¥ P e
(u)qeﬁmaimwﬁGDPwaﬁw%
(1)C+I+G+X .
()C+I+G-M
B)C+I+G+X~-M
(4)c+1+G+x+M

@)ﬁfﬁ%ﬁaﬂwﬂ“ﬁ . B s TR
'ﬂwﬁwﬁaﬂwmaﬁnﬁ cdg e ne g ]
"mﬂw&ﬁﬁwm AT T P L S
T e S S 0
S gaﬁ'ﬁﬂai?iﬁaw PO L S b e e i,
s zaﬁaaswﬁzrm e Sy et o i
e et e T e By S |
mﬁrﬁ (1)W‘ﬁ?rﬁ=ﬂ%ﬁ-f%‘q‘ﬂ__ (2):;:5- ﬁmh (3)GDP (4) GNP (S)aﬁww ©)

(c)mﬁnwl_f _f-_zj?a”\rgaﬁAaBmwa?raﬂﬁ’r%mhaza%mavjAaBﬁ
mﬁmwwﬁwﬁﬁmw?ﬁﬂéé— Bl
e L
(m)___ (arf 1) S e (Efdy
5 Co Tt L R | 5
(1)aﬁ1az$mamﬁaenpﬁnﬁmvﬁaﬁam%? s
(2)aﬂ1az$ﬁﬂarﬁﬁ$GDPﬁwﬁmwﬁaﬁ?w%?
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(3)aﬁ1ﬁmaﬁ$mﬁmmw&qmm$mwmﬂww
ED (4) GDP JoiftiaRe ST IRHING SY 70T 6| ‘
(d)(i)wmﬁmmﬁmmnweww,mﬁi

(u)wawemaonpawamemw -

(e)wwememﬂmm%?wwmmﬁawnm@mg?
BOPqﬁﬁmnganwmﬁme? :

'(1) Dlstmgmsh between ordmary money (M) a.nd hlgh powered money (H) 2 marks "

(u)ExplamtherelauonshipbetweenMa.ndH _-"fi b - i 2mari<'s '

: An economy has a monetary base of Rs 20 n:ulhon The general Pubhc wmh to hold 20% o
of that money in cash and the remammg 80% of 1t in the bank Banks wrsh to hold a, 5%

~ cash: Teserve, e

i (1) Caleulate the mol:rey SUPPIY in the eeonomy _' -I ; e 3 mar ks

55 (u) Calculate the rnoney supply 1f bank reserve ratto 18 (a) 1% (b) 10% (c) If the banks o

mamtam thelr entn'e depos1t as reserve money N ,
Sl ' : 4mmh_,

i -'(1) Explam how the rate of interest is belng deterrmned by the dernand and the supply of |

£ _money What happens to the mterest rate 1f
oAl there '1s, increase in nommal mcome 3
' '5(2) money'supply decreases. et

" (11) How , e':use of deblt card W111 affect the emand' for money and why‘? e ?.marks -

S - D1st1ngulsh_between mﬂatton and hyper.;__;_ ,
5 mﬂatlon along w:th econonuc stabxhzanon_pro

5 Iam vanous causes of hyper : o
mmes to control it 1 marks_ ¢

, (1) Dlstmgmsh between nommal rate of mterest and real rate of mterest If real GDP _: :
- grows. by 5% per year, Money stock i in :

/ per year and the nonunal rate of

i mterest is 11% Calculate real mterest' rate o e 4marks

(u) Explam various instruments of monetary pohcy If the central bank‘ wants to mcrease

_the money supply, how will it use thern‘? i Rt 5 i Sl e s rnarks _'
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(& () Fmg 5= (M)aen T gaT (H) ¥ iR Y o
(n)MﬁH%ﬂa%ﬂmﬁwmﬁt :

_\_(a)' TS eferawy a%wzoﬁf%rmmarmﬁasm%lmwsﬂgamzomm

mwaom%ﬁmmﬁﬁm%iﬁwﬁmmamwmﬂﬁﬁél
sreferawer ¥ qa1 @ off @ o W

- (i) 75T 91 gif & o |aﬁa‘$ama3qm(a) 1nﬁrm(b) 10. m%(c)mwwﬁ
D IRTT D ST A R

(c) (1)Wﬁ{ﬁﬂ#ﬂ%mmﬁﬁﬁﬁaﬁaaﬁmﬁr?wﬁmaﬁmm

e (1)vrm%ﬁasmﬁqﬁg-§§a|
e .':"(2)§waﬁq;ﬁ’raaﬂ’rét

‘goods market m an -
o 2+2 narks

the classmal system" What
loyment and pncc level?.
o 7 marks

= .(2) If the mvestment mcrcaﬁeé by Rs 50 n:ulhon what would be the mcrcase in mcome in
‘_the economy'? < S o : :
s -(3) What is the value of budget surplus/deﬁcﬂ" S



é

(4)'Assuming that the full employment level of income is 1200 m1lhen what is the full
employment budget smplus"

(5) If the economy is opened up (mtematmnal trade is now allowed) what will happen to
its income level? | . : ot 7 marks -

(1) The followmg equatlons descnbe the economy

Consumptton e e C= 40+0 75Y,
Lump Sum Tax: =~ T 80~ .
o dnvesmmente oD S0l o e 140 - 101 (where1 is. mterest rate)
o Govemment Expendlture _ 'G— 100 et
. ‘Demand formoney‘ et _L 02Y 51 i
-;Real Moneybalance St -- ' :-ZM/P 85 L
: (l) Denve the equatlons ofIS curve and LM curve. - A = S
f(2) What are the equﬂlbnum level of mcome and rate of mterest'? . | et S marks._ s
(11) Descnbe the factors that lead to shlft of LM cupve - iR s O : 2 marks- ‘

‘The effeetlveness of govemment s monetary and ﬁseal pohmes is dependent on the i
: slopeoftheLMcurve”Explam. Mty e i 7marks

W#wﬁaﬁﬁwﬁaﬁﬁmv@r%mm R SR e
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'(4)Weﬁmwfﬁwmwmmm1zouﬁﬁm=f% Fﬁwﬁwmmanﬁmw%?-‘
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Section 1
- Attemp ay questions

S S 97 S Ay

Let X X5g be :a random sample drawn from 3 pdpulation with the
 following probability density function; By
M) =20 Oyt o

 Find the mean and variance of the sample mean X). What is the

approximate probability that § >3/40 [5]
BN LK e TR T 2 o B I O s

Zurn ovey



f(x) = 2x; O<x%I _ _
aﬁrmmﬁ?%‘ T e (X‘)asrwaﬁamwaaﬁi
IS § f5 X >34 22 > T :

(b) Distinguish between standard error and estimated standard error of an
estimator. What is the estimated standard error of p=X/? For n =225, what
is the maximum value of ths estimated standard error? S [5].

(@) A pediatrician wants to estimate the mean weight- of firstborn babjes
which is normally distributed. The standard deviation of weight for al]

firstborn babies is 1.15 kg. If she wants to be 95% sure that the mean weight

of firstborns differs from her-'sample mean by no more than 0.25 kgs, what
should be the size of the sample? ;

(b) For a given sample size, can we 54y unequivocally that 9994 confidence
level is to be preferred to a 959 level? Why or why not? - [5]




(a)waﬁﬁ,%%ﬁw%mwﬁmmmﬁﬁ%
- N IR 2§ | Tl gt @ N TS 19 T 145 foam 81 afe
aggsqﬁmﬁﬁﬁ?aﬁmﬂﬁ?ﬁ%%qsﬁﬁmgc BT ARG R
ST T AR Q08 I s o oay o BT 93 T35y, 2
SHTIRIHAT Ef1? |

- @) @ fe T STOR B Ry 7a7 74 W WY Y o A § fp g
HIRET Sferearer v, 95 HICRTT WX % geicdiey 8 W 9wy e

(1) Find a 95% confidence iﬁtei’val for the true variance of the sky]] length of
the given Species of bird, - e R S ' ‘
- (i) Also find 999 upper confidence boynd for o? and'i_nte;oret it, [5]

nction:

25

- Given'the density fi

st =y
0= 2
a0
(i) Derive the maXiiﬁum'l']kellhd_Od estimator of 0 based on 4 sample of

- (i) For the following sample of 5 observations selected from a Population -
.~ with the above density function; - Gl i
L 6.10,12,49

, C'al_cule:lte the maximum likelihood estimate ofg. [5]:

- I N 89T B -




re.

L

(i) ¥R oy v g9 W%&ﬂﬂnmﬁ%ﬁrﬂésﬁsmtﬁ,
T % forg
6,10,12,4,9

é.ﬁﬁﬂﬂwaﬁﬂ?ﬁ@mjﬁﬂl el

Let X X5 be a random" sample from a populatmn W1th mean u and
varlance o, Consider the following two estimators of [1;

| 91—§(X1 T XtX;)
‘92“30(1 +2X,+3X)

' (1) Are the two estimators unbiased?

(11) Which one is preferred and why? . b | R "[Sj
m:r?v?rf%avxl,xz,&m pamﬁw&msﬁmﬂwﬁ%mw
SR AT
ﬁrﬁrﬁ%ﬁaﬁumwaﬁwfﬁ-wm

é =-§; (X] + X2+X3)

[ et

=5 X1+ 2Xp+3X;)

'(1) aafaﬁrm‘cfw-csﬁﬂm 87

(ii) PI—T THEET BT T
Sectlon -1
HIT — 11
Question 8 is compulsary Do any two questions from 9 10 and 11.

| Waarﬁanf%| L) 10@11ﬁﬁﬁﬁ?ffﬁﬁrwﬁﬁm

Suppose a test procedure about the populatlon mean M is performed when
the population is normal and the sample size: 1s 10 If the alternatlve |

' hypothe51s 1s:

(1) Ha: p < p,, what is the rejection reo1on for the test at 5% Ievel of
s1gn1ﬁcance if population standard dev1at10n is known? - o

(i) Hy p# Mo, What is the rejection region for the test at 2% level of
significance, if population standard deviation is unknown? '

(iii) If the sample of 10 observations gave a mean of 20 and a standard
dewa‘uon of 2, conduct the test in (i) glven that p,=21. [5]

eﬁeﬂﬁfw%mempwwﬁm—@mﬁnﬁmm
Waw:ﬂfnsrmw%lm%aiﬁ%wqﬁmm%.

() Hs p< }...ﬁer/o uxi_ﬁﬁﬁrﬁf\a’_"\?ﬁ?‘—fu?WﬁT U%\TF{W
Dl "D fgeq s 217



r additive should'be usedbl;.not'j.

1882

(ii)Ha:m&poa‘rz%%ﬁima%%vaﬁamm-wmaﬁ"aﬁ‘ﬁ‘@w_

DI HTE {996 o1 5 87

Gy R 10 3T B oo T B FIER A7y éo T e foaers 2 & oy
AW Gi) B ]%R’é??f N T Ho=21 fear TALEL:

"+ (ii) For a random sample of 25_0b$ervatiohs, ifx= 52,000 what is the
~conclusion to the test in part (i) using o= ,012 = -

- (iv) Define type IT érror and determine its 'pi'obability; when true  is 51,500
- and the rejection region is as given in part (iii). 'Show_diagrammatically.

(v) What would be the value of z; if probability of type II error (B) is 0.10
for the test in part (D2 e e - [10]

(i) 25 SPILIT & v ?rﬁ??ﬁ‘srﬂﬁﬁﬁﬁfﬁvﬂﬁf = 5-2,_000, a‘r a=.01%

(iii) Tfe T &3 % > 51,500, %7 @1 8l, Wi Hﬂﬁs‘r dl egu—1 3

| ﬁﬂﬁﬂwﬁuﬁazﬁ%:fﬁammﬁl

(iv) eEU-1I e = Wﬁmﬁaaﬁf TSB! W PR Y o
qRIAS = 51,500 7 SIRE G2 p s o R o (i) 7 fear oy 2 B ERT
(v)syéie%%vzﬁmrawwmu%agq—ﬂgﬁeﬁmmo%l

A random sample of 15 observations from a normal population gave a mean
of 68 and standard deviation 9 and another indenendens random sample of §

Ak Lo




IL A"
a

observations from a normal population gave a mean . of 60 and standard
~ deviation 12. Test at 5% level of significance whether the two samples comne
. from populations that have the same mean if: : = | '
(1) Population standard deviations are equal. ‘ )
~ (ii) Population standard deviations are unequal, L g [10]~

ST ST W 15 FPAT o7 U IR T BT AT 68 T s
[9eeT 9 & o W ST & ue ey T3 AR T BT AR 60
T HE AT 12 ¥ 1 5 IR qEw WX W S w5 gy T
(i) SEsT - $ e fRge awEy 2 i
(i) SRl & UINCR CECERCHERA e I
Two indepencient random samples drawn from two normal pdpulations are;
‘ Sample 1: 27, 33, 42, 41, 35, 32 '
_ -_Sample'Z_: oo 2001526, V709 '

(1) Obtain an estimate of the variances of the two populations.
(ii) Test whether o, > oy at 5% level of si_gni‘-ﬁc',anc:e.‘ .

 (iii) Find the approximate p- value of the above test? |
(iv) Would your answer to (ii) change if the test was at 2% level of

significance _ 3 - [10]

| A1 127,33, 42,41.35.32
P2 . 2015062777

(1)aﬁ:ﬁwwaﬁzﬁﬁﬂwﬁzﬁqumwzﬁ%l
(i) 5% 7o WR WX N P o>02 7]

(iii) HIR ST 77 S B p- value (@S Hifvr | “
(iv)ﬂﬂjT(ii)%ﬁ?-ﬁ'w'WWW%EZ%WWWETI‘
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Section [y
Question 12 js Compulisory. Do any one question from J3 and 14,
9% 12 | W27 13 uq 14 3 % 3 S Aoy |

2. (1) Suppose thé_:'rél'lation between Y ang X can be deScﬁbed'by__ the simple

13 Data for 27 observations on tyg variables X and Y s given below:
- Tx=220, Zy’=_440;'2xz=_2260? 2Y* =8900 and 2Xy=4430 ik
(i) Esﬁmateﬂiemdmmylwstsquammgrmsiodlhe“hinsm&ssedonX
(i) Estimate the variance of the slope coefficient (b)), h |
(iii) Test H, *Pr=0,H,: B, %0 ar 50, level of significance, Where B, is the |
 slope of the population Iegression line, o s [10] |
XTI Y @ 22 gerdat o o oG SD S gy
x=220), 2Y=440,5x’<2260, Yy’ =8900 and Y Xy=4430

(i%%ﬁ?ﬁeﬁmﬁ%@maﬁmy P X T Hrrfre
(i) E?rrq’jﬂu%ﬁblfﬁrﬁiwm_ﬂﬁﬁm

14, 'Let X: Marks obtained by a student in interna] test.

X:9 011 19 18
Y:12 14 17 ¢4 20

(1) Calculate coefficient of correlation (r),

(i)Test at 194 level of signiﬁcance, whether there is any linear relationship
between the two variableg

-




g
(iii)What assumptions have you made about the joint probability distribution
of X and Y to conduct the test in part (i1)?
(iv) Calculate coefficient of determination and interpret it. '
(v) Find the error sum of squares (SSE) when Y i 18 regressed onX. [10]

R x. ot T ¥ O EITEHGTEB

5 BTEI @ AP @ Qg T B

X w9 10 of 10 S R

4 T D
(i) 8 = S (r) T DY |
(i 1%%@@%&%@%@%%@%%@?%%
(iii) W (u)ﬁé&faﬂﬁra%f%mamﬁxaviﬁﬂgaﬁwﬂwﬁa?wzﬁ
forg aar Arga ot 87
(w)ﬁuﬁma?rwﬁmaﬁﬁmsﬂﬁwmaﬁl - .
(v)myaﬁqu%wﬁa%mmagﬁwm?%m(ssmw
ﬁ[ | -
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: ‘75

> (Wn&wwRoﬂNam%emeeM@mWafﬁwmm)
mmw%ﬁaﬁﬂmﬁﬂ n#ﬁwfﬁamwmmmmu

nswers may -_be wntten either i in Engimh or m Hmdz,
used throughaut the paper e

bm‘ ihé Same medzum .s'hould be

swmw 'wama:rﬁa? mfg—-q-?f?m? @ a7 #a?fa'qéﬂ;; ay qurm@

- All questians are compul.s'ory Use of .ﬂmple ca!culator is penmtted

, w?man"?m’?: mw#ﬁgﬁawmmmmé:

: : (3 x4= 12 )
(a) Deﬁne an xdernpotent matnx Check whether thﬂ- fo!lowmg matrlx lS 1dempotent :

'. I Answer any four o,f the followmg

(o) Do v, vzand v; form a basis of R*? Justify your answer.

Tuim ower



2 :
(d) Find the equations of the line through the points (1,0,1) and (2,1,0).

(e) Use Cramer’s rule to solve for the unknowns

2x + 6y=22
X + 5y =53 %
ﬁmﬁmﬁﬁ%ﬁﬁﬁm?hwfﬁﬁ

T e ﬁdempaz‘ent) anagﬁwﬁqﬁaaﬁﬁm maﬁﬁqﬁﬁﬁwﬁrﬁwaﬁqﬂ :

. T o
. i _
B '(x—l I—xJ-'

AR A, B o arogs & 9 7 R [BAB|=|4]

T RT vi,vz TF vy R’ &7 1% s £? e woR @ siifoea wrfag 'rﬁfﬁﬁf{ [

el Al

gl (1,0,1) ¥ (2,1,0) ¥ ot arht e 7 SR ST B

S X + 6y=22
- =X + .5y =53

Answer any two of the following: | . . (5%x2=10)

(2) Find the point closest to the origin in R> that is on both the planes 3x + y + z=35
andx +y+z=1.



Q5 : " lgss

(b) A small econ G'By produces onl) two goods X and y. The producﬂon of one unit of -

1 1 2
A _requlres 2 ¥ umtq of x and no y Thc produa.t on Gf one umt of y requzrcs 5 units -

_of X and ;{ units of y. Consumer demands 1 unit of X anci 3 umts of y for their

. consumption.

i (1j Wnte the i mput-output matrrx and Leont;ef system for thlS economy

3 '(u) Fmd the outputs that must be produced in each mdustr_‘yr in order to meet
.. the final demands : :

~ (c) For what values of ‘a’ and ‘b’ the system of equatmns '

3] 2-x+ay+6z=8
X +2y+bz=5
x-r y'-+'-'32=4

bids =

(1) i a unique solution

(ii)" : mﬁmte.y many solutmns

: (111) no soluuon ?

()

aﬂ# $ R, x & 12 ms‘

f‘r‘mﬁfﬁ?ﬁ— A R $_W é‘rﬁ:w__

E:‘Fﬁ maa‘r 3xty+z=5 vd x+y-i’-z—1 w R3 3 e ﬁTﬁ 3 ﬁ-cb?ﬁq ﬁ=g T FIR |

S T B R xﬁI/ZSEm{@y&?HMWéﬁaﬂa?uwﬁﬁ%lwﬁwaﬂ

_ xﬁwgﬁé@;aﬁamﬁmw R AT 2

'."I(n)wmﬁmm$%ﬁm—ﬁﬁma§wmﬁammaﬁ%fﬁql
'(n)a;ﬁmmvwmémmmmw&awaﬁwaﬁﬁl

aqab%ﬁﬁrm%%%ﬁﬁmﬁfmwﬁrm%w

2x+ay+6z=8



X +2y+bz=5
X o 435y
(iJwN%fﬁaaa%ﬂm%- |
(}i)mgaaaéj"
G’ii)_ ¥ €1 g

A'nswe__t‘ a'ny'tw'o of the following: | Ea L ST (4x2=8)
a) Show that P=54 ke™ is one solution of the differential equat:d‘n._% =5—y

Now, -ﬁnd.the solution that satisfies Y0 =].

PIToRes 9 Bl 4 & e e |
5) wfz‘rﬁsya-ffké"mmﬂ%w gj;’-zs—y_mwsaélmﬁwaaé‘maﬁ
B e
3) %WWﬁmwm@maﬂ?mWaﬁWw

(i I{j’f: (-2)

(i1) -?;x(x—-l)(x——?}



4.

Answer any four ofthe following' : : £ st : 3 (6 x'4 =, 24).
a) Determine the deﬁmteness of the followmg quadratic forms : T
(1) i AT x +2xy yzsubjecttox+y 0
(i) 2= 2% —2xy+y2

‘ b) Illustrate the result that usmg the.ﬁrst order total dlfferennal leads to overestlmate ,

of the change in ﬁmetlon value for the functl

z=10—(x* + yz)
Use the initial point (x,y) = (1,1) and dc=2 and =3

c) Check homogene:ty and homothetlclty of the followmg functlons

ﬁ"2‘1+J—

()  Z=e*y

- d) (l) In what dlrectlon should one move frorn the point (0, 3) to mcrease '

f(x,y) = yze most rapldly Expla}n your answer as a vector of length 1.
(if) Given y= f(k‘,_t) = 02(1+t) "k where k = k,e%% find dy/dt.

e) Verify Euler s theorem for g xmy and show that along : any ray from the
origin, the slopes of the ievel curves for z are equal, although z’ and z do

change.
ﬁfw%ff@a-ﬁﬁﬁr@rawa%wﬁm:
PreferRix e el ) PR a1 we <o
(1) i=x2+‘2xy-}f25ubject tox+y=0
(ii)  z=2x*~2xy+ y?
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Wﬁwwmﬁm@mﬁzm-@%ﬁ)ﬁmﬁﬁmw

"'sm*r“ﬁw~+qwﬂvﬁafhm.rm—aa?foﬂ“w%1mﬁ**§(x}) =(L) .
' «2&@ 3aﬂm‘mﬁ| 27 gl
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Answer any three of thc folIowmg O ,' e (7x3= 21)

; a) Forz=x*+x*- - 6Xy + ?,y2 find stationary pomts and deterrnme whether. they
. are maxima, minima or saddle points. - :

b) A firm's productmn functmn is glven by Q 32K3’4L”4 where Q is monthly
output and K and L. are. the quantities of capltal and labor inputs, respectively,
used per month. The average monthly cost per umt of capital is Px = RS o o
12,000 and the averaﬂe monthly cost per unit of Iabor is PL =Rs. 3,000. Usmg =
the Lagrange method ﬁnd the quantities of capital and Iabor inputs that

minimize the cost of produc.nb 20,000 umts of output What is the mlmmal
: ctcast‘> s f G LE e :_:‘. ;—,_ AR

0) LeL f(x, v} ‘%x s 2y“ + 5 be d fined over the area bounded by 0 <x< 10 and
2<y<10. Find and ciasmfv all the extreme pomts of this function. Find the
extreme values of thls ﬁinctlon

d) Sketch the follomno set :
{(Je:,y):ISx2 + y? :‘:‘2}' '

Check and explain why/why not it is a conipact set. Is it a convex set? Explain.
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I. Answer any four of the following : (4x6)

(a) (i) If the set of vectors (oc,,al,aj) is lincarly dependent, then prove that

the set of vectors (cx,,az,cx_,,%) is also linearly dependent.

(i) If the set of vectors (u, v, w) is linearly independent, then show that

the set of vectors (u+v,u- V, U —2v 4+ w) is also linearly

independent.

(®) () Find the rank of matrix A when x#y=z x =Y#2Z and x=y=g
(X, y and z # 0) where

(R S
A=l x y ZJ
X.2 yz ZZ

order is singular.

(c) (1) Determine whether the following pair of planes intersect :

x+2y~3z=6andx+3y—2z:6.

(ii) Find the equation of the line ‘[’ passing through the point P (1, -2, 4)
and perpendicular to the plane given by the equation 3x + 5y + 7z = 15.

(d) Consider an input-output model] with three industries A, B and C. Suppose
that the input requirements are given by the following table -

Industry A Industry B Industry C
Industry A a, = 0.0 2, F10.2 %= 0.1
Industry B B, = 0.3 a,,= 0.0 g =102
Industry C 8., =02 a,= 0.1 a,.= 0.0 o

s s,
e




3958 3

(85)

The final demand is given by the vector L%J :
20

(i) What is the economic interpretation of the condition a, = 0 for all i ?
(i) What is the economic interpretation (if any) of the sum a,, +a, +a,, ?
(iii) What is the economic interpretation (if any) of the sum a, +a,, + a,,?

(iv) What is the economic interpretation of the element 95 in the findl

demand vector ?

(v) Write the Leontief system for this model.

(e) Consider the following linear system of equations :

(q-Dx +py =0
(1-q)x -py =10

Xty = |

(i) If p and q lie between 0 and 1, how many solutions does this system
have ? Why ?

(ii) Ignoring the condition that p and q must lie between 0 and 1, find the
values of p and q so that this system has no solution.

- Prefufa ¥ ¥ fE AR @ 9w AR
(@) (i) af wRw @ g (o,0,,0,) W& ek 2 @ g St fF el @
e (o, 0,,00,0,) off W fl 2

(i) afz wfest = @ (u, v, w) T T & @ @uieg & afe o e

(u+v,u—v,u—2v+w) f W& @ed ® |

PT.O.
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(@) (i) = A R wife 79 AT @ x#y#2z x=y#z2 @@ x=y=z (xy
33(2#0)3‘[%?:

(ii) wwigw fo fordt wonen faem woifer st oy fowermeta i smegs
. fomeor 2

() (i) Fuifts K fF gt Fatiee w0 e et o 2

X +2y—32=6Wd x + 3y — 2z = 6.

(ii) T@m ‘L’ =t e A Fee S g P(1, -2, 4) F TR 8 T Ry ay
FATA FHERI 3x + Sy + 7z =15 & o=ad = |

(7) 9 J=ERT A, B vd C & a9 s - Fela At w ik A | e et
fFefafaa arforen o s srawgEad & wE 2

IR A JaET B I C
I A a,, = 0.0 a; = 0.2 a,= 0.1
3T B a =03 i =100 .= 0.2
SEnT C a, = 0.2 a,= 0.1 a,, = 0.0
(85)
3T AT v wfRw qara fRar wn @ L%J.
20

(i) o a, =0 & i & v = snfdfer fademn o @ 7
(i) ¥ ART @, +a, +a, W (AR AE) sl = 2 7



3958 ' 5
(i) wm AT 4 +a, +a, F (AR FE) wf¥E = R 7

(iv) sifew s wfesr & wewy 05 &t sufden fodwmm @ 2 7

(v) =& ¥irea & forw Aife® (Leontief) = fafEg |

(z) Frffen Yba wheo & fem o T 6

(@-Dx +py=0
(I-q)x —py =0

x+y='l

(i) af pwd q, 07 | & = @ 2 @ 3@ Fom & e sa e 2 8k
i ?

(i) Tl @t FoReT A T R p v g Fftew s @ 0 vE 1 &« 8 =Ry,
p Ud q @ e fa o & 1 e @ =8 ga =191 8l |

2. Answer any two of the following : (2x4)

. Find the differential eguation of the family of circles passine thropeh the

origin and having center on the x-axis.

(b) Solve the differential equation :

Find the solution to this equation that satisfies the initial condition y(0) = 2.

( A set S in R? is said to be convex if x €S, y €S, and A €[0,1] = (1-A)x +1y €S.
Using this definition, verify whether the following set is convex (A diagram

is not a sufficient answer).

P.T.0.
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Frfeiea ¥ & sl @t @ g dfg

wﬂﬁwwwmﬁmﬁﬁmmﬁ y(0) = 2 =t g =7 o |
(1) R ¥ v w0 S Y I her e @ A

x €S, yeS, W@ 4ef0,l] = (1-1)x+Ay eS.
m%wmm@mﬁm%mﬁﬁﬁ%ﬁwm%
(%aahmﬁamqﬁmﬁ%)l

S = {(x,y): Xy<2,x20, ySO}

3. Answer any two of the following : (2%5)

(a) Sketch the level curves for the following functions at heights specified by k :
() f(x,y) = x? — y, at the heights k = 0, 2.

1) g(x,y} = (y—2x)?, at the height k = 4.

(b) (1) If z= f(x,y) and fis differentiable, x =g+ and y=s—t, show that

CREES-
ox oy ds ot
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()

(1)

(1)

(i)

7

Decide which of the following functions are quasi-concave. Give

reasons.

(@) y=3x+T

@) z=ln(x, Ux,2) (where x; >0, %, >0, 2,0, a,>0)

The demand for good X, is given by :

N b

Xy =mblp1 P, (m>0, p1>0v pz>0)

The demand for good X, is given by :

%, = mepitp, (m >0,p,>0,p; > 0)

2
(where b, b,, a,, a,,, a,, a,, are positive constants, m is money
income, p, and p, are per unit prices of goods X, and X, respectively).
Find the direct as well as the cross partial price elasticities of demand
for both goods. Determine whether the goods are substitutes or

complements.

In a factory, the daily output is Q = 60K"*L” units, where K denotes
the capital investment (in units of Rs. 1,000) and L is the size of the
labour force (in worker-hours). The current capital investment is
Rs. 9,00,000 and 1,000 worker-hours of labour are used each day.
Using differential, estimate the change in output that will result when
capital investment is increased by Rs. 1,000 and labour decreased by

2 worker-hours.

e & @ sl &t & S Qg

(=) k aRT & W SAEdl @ e ¥ Fefaied weml @ W aw SR

(i) f(x,y) = x*—y, S k = 0, 2 R |

(i) g(x,y} = (y—2x)%, 39 k = 4 W

P.T.O.
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(@) (i)uﬁzzf(XaY)sﬁ?fW%,x:s+['~3*ﬁ?y=s~—t,?-ﬁ3‘~iﬁ§q%:
(1)(1}1 o
Ix o) 8s o

(ii)aﬁmaﬁﬁq%ﬁwﬁ%aﬁ#mwaﬁ-mﬁ%nmw:

(F) y=5x +7

(@) z:ln(x, "'xg‘“) (BT X,20, x,>0, a, >0, a,>0)

™) (i) X, g & o A wowr fear war 2 -

X, = m["pi p,P (m >0, p, >0, p, > 0)

X, T & fore i werr foar amay 2 -

X, =mUpPpE  (m>0,p 50, p, > 0)

(Wt bl,bz,a”,alz,au,a22 A iR 2 m‘?rl?:mana%, p, T3 p,
ERE X,wafxzai@&*faﬁuﬁwiaﬂﬁ%) | S et @ Ry e sk
wmmﬁﬁmﬁmlﬁﬁ%ﬁﬁq%mﬁw
et & a1 awe |

(ii) T wREm ¥ wffeT 7 g Q = 60K "1 THIATE | qeT K ot
(T9 1,oooﬁmﬁﬁ)wmm?gw (ST~ ¥t %) =t w2
T Gl FEw @ 9,00,000 2 T AAGA F 1,000 &8 - wer wRif
ST e TARTT B I Fd §¢ I ¥ qRar oy
ST T W §oht oy I,OOOW&WWW%WW 2
T - HET HerT Wi R |

4.  Answer any two of the following : (2x6)

(a) () Find for which (X, y) the following function is well-defined (domain):

f(x,y) = YXFY+I

X~
Hence, sketch the domain in the xy-plane.
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(i1) Consider the following system of equations :
zZ+wW =Xy
IW=X1Y

Find the differentials of z and w expressed in terms of dx and dy.

(b) (i) Find the directional derivative of the function :

X

f(x,y)= Cry

at P (1,0) in the direction from P to Q (-1, —1). In what direction does
f have the maximum rate of increase ? What is the maximum rate of
increase ?

(i) Find the equation for the plane that is tangent to the given surface

7= 11‘1(){2 +y2) at the point (1, 0, 0).

(c) Consider the following system of equations :
Xy —w=10
y—-w—-3z2=20

wr+ 2z —-2zw =0

1
The point P=(x,y,w;z)=| —, 4, I; 1| is a solution. Apply the implicit function
p 4 ply

theorem to prove that the system defines x, y and w as continuously

_ ox
differentiable functions of z in the neighbourhood of P. Find %

PrfeRag ¥ ¥ frdl & @ IR AR
(=) (i) == =i e e (xy) o oy FRafafeaa e o ofafia 2 (we) -

JX+y+1

x—1

f(x,y)=

T xy-AAdd WU 1 @I §EEY |

0.
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(ii)ﬁ“r%ﬁaaﬂﬁhmﬁ%ﬁmwﬁtaﬁﬁq:
z+w=xy

EW=X+y

zéﬁtwfﬁaﬁﬁﬁaﬁdxvﬁ‘dya}m#m%a

(@) () floy)= -
%ﬁvmmmma%ﬁvwhﬁrgpa,mwp% Q-
#%lﬁaﬁmﬁfﬁﬁaﬁams}vﬂ?%vﬂ&m
g7

L, —1) =t feayr
i #t = 7

(ﬁ)m%h%mﬁﬁqrﬁﬁq@m z=In

(x2+y2) Eﬁ}ﬁ'(’
B g (1,0,0) = wrsf =y 5 |

() ﬁwﬁrﬁaaﬂﬁwvﬁaﬁﬁamwvﬁ?aﬁﬁv:
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(b) Find the maximum and minimum values that the function f(x, y) =Xy takes

on the constraint :

2 2
_){__'._..}’_:1.
8 2

(¢) A consumer’s utility is a function of two goods x andy and is given by

U=oalnx+BIny (whére a, B are positive constants)

" The consumer’s budget constraint is given by

PX +qy = m (where p and q are per unit prices of goods x and y respectively,
and m is money income).

(1) Using the Lagrangean method, find the optimal Values of x andy as
functions of p, q and m.

(i) Check the second order condition.

(iii) Find the optimal value function U* (p,q,m). Find oU*/om and give its

economic interpretation.

(d) Let f(x,y)=x"+y*+kxy where k takes values except 2 and —2.

Find the sfationary point of f(x,y). Determine the values of the constant k for
which this stationary point is

(1) alocal minimum point

(ii) a saddle point.

frfoias ¥ ¥ fedl 9 @ e SR
() S = Rl fix,y) & v firg v o 5wl @ s S v -

f(x,y)=¢"; 8= {(x,y): X +3° Sl} :

P.T.O.
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(@) Wf(x,y)=xy%%vaﬁamqwm1ﬁaﬁmaﬁmﬁmwﬁw
—+y7=1%|
(1) T ITHFN & I @ awgS x 3Ry & we
U=alnx+BIny far gan & (57 o w@ B o e 2 1) _
STHIS S AWC WS px + qy = m fear gan 2 (ST p 3k q w x@y?ﬁ
i FHE R T m wifE am 2)

(i) wrarsr fafer = SwRmT @ ge x SR y & T (optimal) = =¥ p, q v
m ® BT D T F AT A |

(ii) <fodia w0 ot & s i |

(iil) T AT HerT U"(p,q,m) <t ¥ FAT | U™ /om = 7 T o
Tl e faa=mr = ot sy |

(7) o SR f(x,y)= x> +y* + kxy Wl k T A 2 vF 2 & afRam #1 f(xy)
é%ﬁmwﬁ$§~aﬁrﬁmﬁvaf@nﬁﬁ1gﬁ%ﬂsﬂ:ﬁ%ﬁ%ﬁﬁa“émﬁviﬁmﬁ%ﬁmzagfén
fame

=

(i) v T =gmaw fag
(i) v I farg 2

(2800)
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: Your Roll Np,

SL. No. of Ques. Paper 11176 Mo

Unique Paper Code 13203201

Name of Paper - +English Literature 4 (i)

Name of Course * B.A. (Hons.) English
; Semester - oo ‘
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SRl (Write you Rol No. on the top immectiy b on receipt of this question on paper)

Attempt all questions, Section A has three questions of 10 marks eqch,

Section B has three questions of 15 marks each,

SECTION A
1. Write a short critical note or')qah'y- ‘_o"ne of the following:
(a) Jane’s deliberate eécape from Thornfield Hall

(b) Femiale friendships in Jane Bre ' ’ S0

(@) Tom Tulljver

OR _

3 Explain critically with reference to context any one of the following passages:

(@) What if we still ride on, we two,
With life for ever old yet new,
Changed not in kind but in degree,
The instant mage eternity,

And heaven Just prove that | and she
Ride, ride together, for ever ride?

g PTo

2.Write a short critical note on.any one of the following: : e e



Fought with the bravest among us, and drove them, andjs_mdte, them, and slew, . R
That ever upon the topmost roof our banner in India flew. SR (10)

SECTION B

OR

(b) *In Jane Eyre, C'ha'rloﬁe--Bront'ef- offers a'fine glimpse of mys.tery‘ and the Supernatural along . .
- with the'heroine‘ls-psychdlogical development.’ Critically comment. G A13)..

5'.(a)Desti-ny,' and not Maggie’s -human-weaknesses, ére responsible for her tragic and untimely
death. Do you agree? o83 _

OR

Koo
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Roll No, , iz
S. No. of Question Paper : 1177 ‘
Unique Paper Code 203202 | | F
Name of the Paper : Twentieth Century Indian Writing (ii)
Name of'the Course ' BLA. (Hons) English
Semester | |
Duration : 3 Hours Maximum Marks : 75

I. (a)

(5)

(©)

(Write your Roll Np, on the top immediately on receipt of this question paper.)

All questions are compulsory. Question No. { has three parts
and all parts have to pe attempted.
Write short notes on :

() The title of Half Way-House

Or
) The tussle between Nana and Ghashiram 10
Write short notes on -
(7) Bartholomew’s Atlas
Or
(i) May Price, 10

- Identify and refer to the context with critical comments -

() Surat ? Ah. ves,

Once only | stayed in Surat
PO,
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(@)

(b)

(b)
(a)

(b)

(2)
With family members
- Of .my' ngle’s vé"}y old friend,
His wife was cooking nicely ....... |
That was long time ago.
(i) Storm the Bastile Reaction’s home
And surge forward
Converge skyward

Lo another world a grander world

The banner of liberty has unfurled.

Discuss the several roles and identities of the Men and what function they
in Aadhe Adhure.

Of‘.
Ghashiram Kotwal satirizes the utter decadence of féild&l society. Discuss.
Critically c’orﬁment on the significance of the title of 7he Shadow Lines.
| Or
Discuss the role of Tha’amma in The Sha?fow Lines.

What makes Jibananda Das a modernist poet ? Answer with reference to the poe

that you have read.
Or
Do you think history plays a significant role in shaping Jayanta Mahapatm}

poetry ? Comment critically.
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(White your Roll No. on the top immediately on receipt of this question paper.)
Attempt all questions.

) Identify the passage given below and explain with reference to the context:

Regard his hellish fall,

- Whose fiendful fortune may exhort the wise
Only to wonder at unlawful things;
_ W‘hese deepness doth entice such forward wits,
A :
Or
rite a short note on the Good Angel and the Bad Angel. (10 marks)
2a) Answer the questions that follow the passage given below: -
5 This hand of yours requires
A sequester from liberty: fasting and prayer,
Much castigation, exercise devout;
For here’s a young and sweating devil here

That commonly rebels.

b )~ Name the speaker and the person spoken to. Briefly explain the context. (3)
- i) Explain the two phrases in italics. (3)
(i) Critically comment on the lines given in the passage. (4)
O

b) Write a short note on the signiﬁc-ancé of the reference to “Turks’ in Othello. (10 marks)

ATo



-Q- |
3a) Identify the passage given below and explain with reference to the context: -

O good old man, how well in thee appears

The constant service of the antique world,

When service sweat for duty, not for meéd.

Thou art not for the fashion of these times,

Where none will sweat but for promotion,
And having that, do chc-ké their service up

Even with the having; it is not so with thee.

Or

b) Write a short note on the Epilogue in As You Like I1. (10 marks) ‘

4a) “The central conflict in Marlowe’s Doctor Faustus is the clash between Renaissance
individualism and Christian orthodoxy.” Discuss.

Or

b) “The soliloquies in Doctor Faustus not only help in an understanding of the protagonist’s
character but also bring out the different discourses on knowledge.” Do you agree? Give reasons
for your answer with specific references from the text. (15 marks)

5a) “The state of Venice ultimately victimizes the marginals of its society: whether the Moors or
the women.” Do you agree? Give reasons for your answer.

“Or
b) “Desdemona’s fatal flaw, it has been argued, is her extreme passivity, her refusal to read
Othello’s anger and confront it with angar of her own at his abuse”. Critically examine
this statement. (15 marks)

6a) “Shakespeare’s treatment of pastoral in As You Like It is neither that of afﬁrm;uﬁ');n nor
outright rejection.” Do you agree? Give reasons. e :

Or

b) “The fools and the malcontents in As You Like It are not mere g};eat‘rical requirements; they

perform a crucial role of providing an ironic commentary on the main themes of the play.”
Critically examine the statement. (15 marks)

Soo
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1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt all the questions,

1. Write short notes on the following : (10x3=30)

(a) Wit and conceit in John Donne’s poems
OR

Spenser as an Elizabethan sonneteer

(b) Supernaturals in Macbeth
OR

The sleep-walking scene in Macbeth

(¢) Malvolio
OR

Feste

A0,
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Unique Paper Code : 12031202

Name of the Paper : British Poetry and Drama : 14" to 7% C

Name of the Course : B.A. (Hons.) English

Semester SN

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt all the questions,

1. Write short notes on the following : (10%3=30)

(a) Wit and conceit in John Donne’s poems
OR

Spenser as an Elizabethan sonneteer

(b) Supernaturals in Macbeth
OR

The sleep-walking scene in Macbeth

(c¢) Malvolio
OR

Feste

PTO.
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2.

Discuss how the dominant Elizabethan idea of love is being satirized by
Shakespeare in Twelfth Night. (15)

OR
“Unnatural deeds / Do breed unnatural troubles.” — In the light of this quote from

Macbeth (V.i.) discuss the play as underlining the need for natural order.

Analyse the Wife of Bath’s use of religious texts to validate herself. (15)

OR
With reference to Batter My Heart, analyse the characteristic features of
metaphysical poetry.
Do you think the comic scenes in Doctor Faustus are a deliberate diversion or
do they have any substantial significance ? Discuss. (15)

OR

Give a comparative analysis between Faustus’s first soliloquy and his last soliloquy

and trace his journey from competence to confidence to damnation.

Trace the development of Faustus from a position of heroic grandeur to damnation,

(3500)
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f Question Paper : 5011 Your Roll No...oovvirvnnns
e Paper Code 2101211 N

Name of the Paper : 205, Indian Economy and Business

lame of the Course : B.A. (H) Journalism

: 11 (2016)

Juration : 3 Hours

Maximum Marks . 75

nstructions for Candidates

/rite your Roll No. on the top immediately on receipt of this question paper.
Attempt all questions.

‘ questions carry equal marks.

Define the GDP. Explain how one can arrive at the GDP figure through the

_income method. . (15)
OR

st the main features of the New Industrial Policy of 1991, What are the recent

policy initiatives by the government in the context of industrial policy ?

How is development different from growth ? How can human development be

compared across countries ? (15)
OR

What is the purpose of food market interventions by the government ? Has the
PDS become more effective after 1997 ?

PTi0.
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3.

Enumerate the functions performed by the Central Bank in India. Discuss the
regulatory role of RBI in detail. (15)

OR

What are the main features and functions of money ? Does money still have its

- traditional appeal in the present day ?

Compare and contrast VAT with GST. : | (15)
OR
Analyse the major components of revenue budgets. Suggest ways of reducing the

revenue deficit.

What has been the basis of regarding “the return of depression economics” as
one of the serious challenges facing the global economic order ? Suggest some
policy measures to address the implicit concerns. (15)

OR
Write short notes on any three : (5%3)
(i) Limitations of the GDP as a measure of welfare
(i) Agricultural price policy in India
(i) Voluntary export restraints

(iv) India and the WTO

(200)
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Sr. No. of Question Paper : 5012 b Your Roll No................
Unique Paper Code : 101212 N

Name of the Paper : Media and Cultural Studies

Name of the Course : B.A. (Hons.) Journalism

Semester : 11 (2016)

Duration : 3 Hours

Maximum Marks » 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt any five questions.

3. All questions carry equal marks.

1. Popular Culture is consumed with brain numbing passivity. Discuss the debates
around popular culture in the light of the above statement.

OR
What is folk culture ? Critically discuss the commercialization of folk culture in
contemporary urban markets like Dilli Haat or the Suraj Kund Mela.
2. Frankfurt School’s ideas on the Cultural Industries offer a powerful critique of
modern media. Discuss.

OR

According to Althusser, Ideology is encountered in everyday practices which
work to reinforce the dominant ideas of the ruling elite. Critically examine this
statement with examples.

P.T O.



S0ap operas to frame your answer.

What are subcultures ? Critically discuss with suitable examples how subcultures
offer resistance to hegemonic media and cultural forms.

relationship between medja and audiences.

electronic media ?

Write short notes on any two of the follcl)wing :
(1) Hegemony

(1) Fandom in Popular Music

(1) Political Economy

(iv) Women as Active Audiences

(V) Popular Stars as media texts

(200)

S



[This question paper contains 4 printed pages.]

Sr. No. of Question Paper : 5886 F Your Roll No................
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Name of the Paper : Differential Equations and Mathematical Modelling — I
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Semester §
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Instructions for Candidates

L. Write your Roll No. on the top immediately on receipt of this question paper.
2. Attempt all questions.

3. Use of scientific calculator is allowed.

SECTION I

. Attempt any five of the following : (5+5+5+5+5)
(a) Find explicit particular solution of the initial value problem

i =4x’y—y, y(1)=-3
dx

(b) Solve the differential equation

(2xy +1)dx +,(:c2 +4y)dy =)

(c) Solve the differential equation

(x—4)y* dx-x* (yz —B)dy =0

(d) Solve the differential equation

dy 3 3y
—y+3y:3x“ e
dx

PT.O.
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(e) Solve the differential equation

dy 2
—=(4x+
= (4x+y)
(f) Carbon extracted from an ancient skull contained only one-sixth as much "C

as carbon extracted from present day bone. How old is the skull ? (decay
constant k = 0.0001216 if time is measured in years).

(2) A motorboat starts from rest (initial velocity v(0)=v, =0). Its motor provides
a constant acceleration of 4ft/s?, but water resistance causes a deceleration

2

G ft/s>. Find v when t = 10s.
400

SECTION II

2. Attempt any two of the following : (8+8)

(a) Consider the problem of pollution in the Lake Burley Griffin in Australia.
Assume the lake has a constant volume.

(1) Write down a differential equation describing the concentration of
pollution, using V for the volume of the lake, F for flow, C(t) for
concentration at time t and C, for the concentration of pollution entering
the lake.

(i1) For V=28 x 10°m?, F=4 x 109 m?/month, find how long would it take
for the lake with pollution concentration of 107 parts/m* to drop below
the safety threshold (4 x 10¢ m’) if only fresh water enters the lake.

(b) Write down the word equations which describe the movement of the drug
between the two compartments of the body, the GI-Tract and the bloodstream
when the patient takes the single pill.

(1) From the word equation, develop the differential equation system which
describes this process, defining all variables and parameters as required.

(i1) The constants of proportionality associated with the rate at which the
drug diffuses from the GI-Tract into the blood stream, and then is
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removed from the blood stream are 0.72/hour and 0.15/hour respectively.
Suppose initially the amount of the drug in the GI-Tract is 0.0001 mg
and there is none in the blood stream. Determine the level of the drug
in the blood stream after 6 hours.

L. =0.2X —0.001.x2
dr

where x(t) denotes population size at time t. If the initial population size is

X, = 100 and has a time step of one month, find the predicted population after
2 months.

HIH

SECTION III

Attempt any three of the following : (6+6+6)

1

1) Verify that ¥, =¢™and y, = xe™ are two linearly independent solutions of the
differential equation : y" — 10y" + 25y = 0 on the real line. Then find a
particular solution that satisfies the initial conditions y(0) = 3, y'(0) = 13.

Solve the differential equation :
xX*y" + xy' + 9y = 0
by substituting v = Inx (x > 0).

(¢) Use the method of undetermined coefficients to solve the differential equation :
y' =y —2y=3x + 4

'f':“."f; Use the method of variation of parameters to solve the differential equation :
y" + 9y = sin3x

Most grandfather clocks have pendulums with adjustable lengths. One such
clock loses 10 min. per day when the length of its pendulum is 30 in. With
- what length pendulum will this clock keep perfect time 7

Assume that the differential equation of a simple pendulum of length L is
LO" + g6 = 0, where g = GM/R? is the gravitational acceleration at location

of the pendulum (at a distance R from the centre of the earth, M denotes the
~ mass of the earth).

F1.0
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SECTION IV

4. Attempt any one of the following : (16)

(a) A simple model describing a jungle warfare, with one army exposed to
random fire and other to aimed fire, is given by the coupled equation :

a3 =—¢,RB, - =—a,R
di dt |

where ¢ and c, are positive constants.

(1) Use the chain rule to find a relation a between B and R, given the
initial numbers of blue and red soldiers are b, and r, respectively.

(i1) Hence sketch some typical phase plane trajectories. Give directions of
travel along the trajectories.

(i11) Given that initially, both the red and blue armies have one thousand
soldiers, and the constants c, and a, are 10 and 10" respectively.
Determine how many soldiers are left if the battle is fought so that all
the soldiers of one army are killed.

(iv) In this model, one of the armies is hidden whereas the other is visible
to their enemy. Which is the hidden army ? Give reasons for your
answers.

(b) A population of sterile rabbits X(t) is preyed upon by a population of foxes
Y(1). A model for this population interaction is described by a pair of
differential equations :

d—X-=~aXY, —a—fz:bXYﬁcY
dt dt

where a, b, ¢ are positive constants.

(1) Use the chain rule to obtain a relationship between the density of foxes
and the density of rabbits.

(i1) Sketch typical phase plane trajectories, indicating the direction of
movements along the trajectories.

(iii) According to this model, is it possible for the foxes to completely wipe
out the rabbit population ? Give reasons.

(500)
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Sr. No. of Question Paper : 5887 F Your Roll Nowaoreaernanene.
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Name of the Paper ;- MAHT-202 : Analysis — II

Name of the Course : B.Sc. (Hons.) Mathematics — I
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Instructions for Candidates

l.  Write your Roll No. on the top immediately on receipt of this question paper.
2. Attempt any three parts from each question.

3. All questions are compulsory.

1. (a) Use € —0 definition to show that

J % —%+1 1
lim | ———— |==
X +1 2

(b) Let ACR; let f: A— R, and let ¢ € R be a cluster point of A. In

addition, suppose that f(x) 2 0 for all x € A, and let \/f be the function

defined for x € A by (\/E)(x) = (f(x). If lim_, f exists, prove that

limﬁ:\ﬂimmcf _

X=2>C

. o : 1 I :
(¢) Use sequential criterion to show that lim_ cos(——i), x #0, doesn’t exist
( o2

in .

PO,
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(d) Let c € R and let f be defined for x e (¢, ) and f(x) > 0 for all

X € (¢, ). Show that hm_, (f)=c if and only if lim (—Jz 0.

2. (a) Evaluate the following limits or show that they do not exist :

(i) lim__ Vx =5 , X >0
VX +3

(ii) lim__, (—x——] X # ]
' =

(b) Let A, Bc R, let f- A—>R, and g: B> R be functions such that
f(A) ¢ B, if f is continuous at a point ¢ € A and g Is continuous at the
pointb = f(c) € B, show that the composition function g o f jg continuous

at x = ¢.

() Let Ac R; let f: A - R, and let c € A. Show that f is continuous at
¢ € Aif for every sequence (x,) in A converging to ¢, the sequence (f(x ))

converges to f(c).

(d) Show by means of an example that there exists a function defined on R
which is nowhere continuous. How many such functions exist on R ?
Justify. £0.5,5.5)

3. (a) LetI be an interval and let f: I - R be continuous on I. If a, b e [ and
if ‘k> € R satisfies f(a) <k < f(b), then prove that there exists a point

‘c’ between ‘a’ and ‘b’ such that f(c) = k.

(b) Let I = [a, b] be an interval and let f: I- R be continuous on I such
that f(x) > 0 for each x in I. Prove that there exists a number o > 0 such

that f(x) > a for all x e [.
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(¢) LetIbe a closed and bounded interval in R and let f:1— R be continuous

on [. Show that f is uniformly continuous on I.

(d) State the non-uniform continuity criterion and use it to show that the

(b)

(c)

(d)

(a)

(b)

(c)

function f(x) = x? is not uniformly continuous on A = (—0,0).

(5.5,5,5)

(a) Define differentiability of a function fat ¢ e I, where I is an interval in R

and f: - R. Determine the set of all the pomts of R on which
f(x) = x', x € R is not differentiable. Justify.

Given that the function h(x) = x* + 2x + 1 for x € R has an inverse h™'
on R, find the value of (h™')'(y) at the points corresponding to x =0,

1, —1, with justification.

Let f(x) = sgn(x), x € [-2,2]. Show that for this function the conclusion of
the Mean Value Theorem does not hold on [-2,2]. State which hypothesis

of the Mean Value Theorem is not satisfied.

Show that if a > 1, then (1 +x)*2>1 + aa, for all x> -1, with equality

holding if and only if x = 0. (5,5,5,5)

Let I be an interval and let f: [ - R be differentiable on I. Show that
if the derivative f'is never 0 on I, then either f(x) > 0 for all x € [ or

f'(x) <0 for all x € 1. State the theorem used.

State Taylor’s Theorem and use it to show that :
2 2

X X
1+x+?<e" <l+x?e", x>0

Obtain Maclaurin’s series expansion for sin2x, x € K.

PTO.
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(d) Define a convex function on an interval in R. Check the convexity for the

function f(x) = x + cosx, x € [-n, 0] on the given interval. State the theorem

used. (5,5,5,5)

(500)
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(d)

(©)

(®)

(c)

3. (a)

(b)

Let X have the pdf

|
f('x):l E(XH) -1<x<1

0 elsewhere

Find the mean value and variance of X.

In a ldt of 50 light bulbs, there are 2 bad bulbs. An inspector examines 5
bulbs, which are selected at random and without replacement. Find the
probability of at least 1 defective bulb among 5.

Show that, for any random variable X, P[X=x]=F,(x) -F,(x ") forall x € R,

where F(x) =lim F,(z).

zTx
Let X, X, have the joint p.d.f as follows

£(x ) 15x7 x,, 0<x, <x, <1
s Xy ) =
i 0, elsewhere

Find the marginal pdfs of X and X,. Also compute P(X,+X,<1).
Let X, and X, have the joint pdf

2 O=<x,<x,<l1

f(x,,xz)z{

0 elsewhere
Find the Conditional Mean and Conditional Variance of X , given X =k,

For a Poisson distribution, find its moment generating function and hence
find its mean and variance.

Show that a normal distribution is a close approximation to the binomial
distribution when n, the number of trials is very large and O the probability
of success on an individual trial is very small.
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Show that if a random variable has an uniform density with parameters o and

B, the probability that it will take on a value less than a + p(B-a) is equal
to p.

Let X, and X, have the joint pdf

¢ )_'6:{2 0<x, <x,<l
(x],xz _'_ 0 elsewhere

Show that (i) E[E(X,|X,)=E(X,) and (ii) VarlE(X,|X,) <Var(X,).

Let X have the discontinuous cumulative distribution function as :

F(x) =

Then find (i) P(—l <X< %J ,and (11) P(X =1).

Let X and X, have the pdf as follows :

bxx. O<x <x. <l
f X,,X,) = 1552 1 2
( : 2) {0 elsewhere

Find E(7X,X,*5X,).

Show that if X and Y have a bivariate normal distribution, then the conditional
density of Y given X = x is a normal distribution with mean

. @
Frix = # +PCT2(X_#1) and Variance ¢’y = b*f‘(l —/)2).
1

P1.0.
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(b) Show that if My, is linear in x and Var Y|x is constant, then

(©)

6w~ &)

(b)

(©)

mwyhza;@—pﬂ.

Given two random variables X and Y that have the joint density

—x(l+y)
X forx>0and y>0
f (x,y) = Y
0 elsewhere

Find the regression equation of Y on X and sketch the regression curve.

Suppose that the chance of rain tomorrow depends on previous weather
conditions only through whether or not it is raining today and not on the past
weather conditions. Suppose also that if it rains today, then it will rain
tomorrow with probability 0.7 and if it does not rain today it will rain
tomorrow with probability 0.4. Express this model as a Markov chain and
find its transitional probability. Also calculate the probability that it will rain
four days from today given that it is raining today.

State and prove Chebyshev’s Theorem.

Suppose that the number of items produced in a factory during a week is a
random variable with mean 500. If the variance of a week’s production is
known to equal 100, then what can be said about the probability that this
week’s production will be between 400 and 600 ?

(500)




’Mv question paper contains 2 printed pages. ; Your Roll No. .................

.. No. of Ques. Paper :1222 F
Unique Paper Code :205202 |
Name of Paper : T&=ft wyast V— s reqanreiis wigar
Name of Course ¢ B.A. (Hons.) Hindi -

emester II :

Juration - :3hours

faximum Marks $ 7S

mmw%ﬁa&ﬂm&#m&ﬁwﬂhmwmmﬁh&u '
a7t 797 st 81

‘&ﬁwaﬂm%mﬁfmaﬁﬁ%m?r—wmaﬁﬁéwaﬁﬁm
< W FEFA ROV S | ey 15

foRrt = g7 WIET R R sifsmg )
e |
‘wﬁm—wﬁaﬂtaﬁamw%n'uwwﬁWWﬁﬁqn s

Wﬁ‘h%ﬂ?’%m?—mwaﬁmﬁmml
ﬁﬁm%mw&amﬂmﬁ—@ﬁmﬁmﬁﬁm | 15

w%aﬁmﬂfﬂﬁamﬁm;

(F) o9 e W9 79, Fger @ @
9 TG T TG, THH GBS F0 |
9 99 W HfeA, v D e A
t%mﬁq-ginﬂra,ﬂquﬁn |

@) %aq%aﬁﬁugﬁre;aﬂ,é@?mﬁ?%w-wrt
iﬁlﬁﬂaﬁﬂﬁmwmwmwﬁ;
QﬁwmﬁqwﬁﬂmﬁﬁWEﬁ@ﬁ
A ST 7 TR DR, W9 T ERG FH wq F ) g

P.T.O:



1222 2

(M TR &9 & U oFm T4 7w =& @ S
ot ¥ s s s s g AR o freRd
T €@ o9 g g @ IR gem v ot g wwid
{9 @ 7, TR weitg ol dw F wofy ot 1 8+8

5. ﬁqmﬁ&;ﬁé:mmmwamwﬂw(mlsomﬁﬁ)m#m:
@ fadwr : wmar-ated .
fafe seF-4€t @ R dg, 7 waEE )
A S we-weh W & @ sfy w® 0
@ fdw : wepfa-dicd
g SER-aE W@ fof, st griufy st fdfa
il YA W, T F O @ g M
HIE-U18 Ue ‘e’ w9 fafy © gEm sueE |
I R T A 0, o N Foq@ @ S o
(m fade: wra-wied |
¥ ¥4 TER ¥, Ao #1 R
o @ S s # qa @ aE AR
T AT TR AR, S @ G N S
ERGER Ci R R TR
#& R *fae, s afe orar wid
fog TRsh shife, aR faven s W | 7+7

900



[This question paper contains 2 printed pages.]

Sr. No. of Question Paper : 3967 FC-2 Your Roll No.sssssvisioes
Unique Paper Code : 12051201

Name of the Paper : Hindi Sahitya Ka Itihas (Aadikal Aur Madhyakal)
Name of the Course : B.A. (H) Hindi

Semester I

Duration : 3 Hours - Maximum Marks : 75
BEl & fom Fdm

L AT & e & W R iR e w s s ffa
2. Qs ye sitEE 2 )

1 B wiRw & & - favaem W wenrer =i | (14)
3terar

JEHA & AR & deof F fafr wat =1 e 6 |

2. Sfereds g st A @ik @ aRker 9w | (14)
rerar
Tl e e g gy |
3. feRd SmElerT St AR SRaT 9 gl w5 aiem S (14)
Jrerat

ek Aifeea &t e T Wy siferg |

A0 &7



3967 2

4.

5.

Afcrenrer & arforen s areplies aRAw @0 figemor S5k |

H2qdr

“QfeF w1 & ARHTT BT = wA B 1 T RAT W AR R |

() fordt &t W aftra ooy fifao -
(i) snReET A wf

(i) TR

=

(14)

(3700)



[This question paper contains 4 printed pages.|

Sr.No. of Question Paper : 3968 FC-2 Your Roll No................
Unique Paper Code » 12051202

Name of the Paper : B =famn (ﬁ%?ﬂéﬁ T )

Name of the Course : B.A. (Hons.) Hindi

Semester el

Duration : 3 Hours - Maximum M;'iI'I(S 275
BEl & fow Ao

L - e @ e R e FeiRe s w s s R |
2. |t v fAad #

L T @ AR WO i |
Irerar

W AT @ wfa ¥ - Seewr e R Ao (12)

2. fe@ & wig-died @ sET S |
Irerar

e @ wrefies < iy a9 | (12)

3. U HE W @ IR & @l § - dewewr fveie @R |
Jrerar

TG & Wi dfitey w1 Waird DR | (12)



3968 5

4. ‘Wﬁ?w?ﬁﬁ‘é‘—mﬂﬂfﬁagﬁgaﬁm,

FHaadr

fiRer e & wrer o7 fdvwary i | i)

5 me@r_aaﬁq;
(%) ‘_’W‘\_"aéﬁ@ﬁﬁv,aﬁaﬁw@@laﬁ[
e sia = <2, s amfy R |
€ ST od HgH, W I Fuw fify |
W Mo goi foe, @f 7€ aw A
Jrorar
T SR 9 IeRar a@E W

W AT 3w Ier A w0t we
éﬂﬂ?ﬁ@ﬁr@ﬁfﬁuﬁmqa

Fe e R w9 *f T g w0 |

e 4 £ 7w 4

T T W wefy 7
(=) @?Wm?ﬂ?wﬁ?wwﬁrwmﬁ
AR R o i P 2w e
T AT 7 A wd A D TR ot

AT G T A S Ay e & s




3968 3

Jrerar
R 1E T A e i e
2l BT IeY A€ wuEr
a8l WA HE T H YRR Ft
W ERE & ww G w R R
w7 fiReR i =3 o @l anh |
Ao = gae ARag e 9 | (7)

6. fav aw fFewl & sqEr fsl @t sEwol @ wE- e T SR

() @t =gar 39 3 F 9 et e et 5w siew =oq 2

T AT A1E fdee WRT & 78 79 w2 T @ w2

U el W S WeAh | A A T H 3 A Ao I B

T A WA 4R o ¥ e R oRr w 9Rr awer W v 2 o

(s - )

(@) WewT wifq = Fifse, sm @) +

FWR A A fea fen, AW wie q=

AeHT G 99 &, A AR AeE

2 ¥ fe 1 W, W W IR W |

(Fifer - <)

() R T @@ G R/ AR T
WHT T A T WHA dehe WE |
s w59 @0 o, 9FE S AT
R AT sraE w@ B B & B

i

(st -t

FTO,



aﬁrnazmﬂqa;n#5¥#im£’ma?m;aﬁzﬁé¥ﬁ?aaﬁ§mﬂmﬂa%|

(& - =7
(6x2=12)

(3700)



This question paper contains 2 printed pages. Your Roll No. ....................

SL. No. of Ques. Paper : 1221 F
. Jnique Paper Code : 205201

Name of Faper : W9 [v— Tt warit

Name of Course : @loTo (3Tid) fe=<t

Semester : 11

Duration : 3 hours

Maximum Marks : 78

mmw%%ﬁﬂmﬁ#v&ﬁwfﬁamwmaﬁmw:) '

1. f A 3 g = Bt - 88

"

(@)

ﬁwﬁsﬂ%ﬁaﬁ%mﬁé@aﬂmwmémﬁ;ﬁﬁqﬁm%‘
ﬂ#lWﬂ%Wﬁ#ﬁﬁ@ﬁﬁ%ﬂﬁwmqﬁlf‘@mﬁaﬁﬁ-ﬁ
aﬁﬁmﬁaﬁﬁ,ﬁw@?m:maﬁmaﬁvﬂmm@?
mlmﬁm@ﬁﬁwﬁlﬁﬁ-ﬂﬁaﬁtaﬁwﬂﬁﬁﬁiﬁmﬁ
@m@ﬁﬁmmmmﬁmmﬁmmﬁéwu
maﬁﬁwhwm%@,mﬂaﬁamﬁaﬁmﬁaw
ﬁm:qm@%ﬁﬁrmr@ﬁmaﬂtmgﬁ_aﬁmwﬂw—ﬁﬁr@
m:m@ﬁaw%m@ﬁhﬁrmmmﬁsﬁr@aﬁtm
q‘m@ﬁﬁmwﬁa—mﬁqzﬁaﬁn

waagrqﬁwﬁa—m%a'nﬁwﬁﬁm@mﬁammﬁm%ﬁﬁﬂaﬁ
ﬁﬁﬁﬁgﬁnﬁa‘ﬂqﬁﬂtéﬁmﬁiﬁﬁﬁmmwmqﬁéaﬂ?
mﬁﬂmﬁwﬁwamﬁﬁér@mmﬁaﬁmm

ﬁaénhﬁmmaﬁ,%w—ﬁma@,ﬁmﬁﬁw{nﬁmﬁ
mgﬁﬁﬁaﬁtmﬁﬁaﬁﬁ*mﬁaﬁéﬂﬂ{?ﬂ,mwﬁﬁ%m&ﬁ
aﬂﬁmlmwwrﬁnwﬁrﬁwﬁlmﬁéw%ﬁmmgmmﬁ
mﬁﬁnwﬁﬁ,aﬁa’rgé‘ﬁ,a’rﬁ’aﬂwﬂmaﬁﬁlﬁvfcrm%amfféu
S =R fof &t '

@mﬁq@?ﬁﬁuﬁmﬁ%aﬂﬁwwmwﬁ:mmﬁm%m
Wﬁwmmﬁwwfﬁmmmaﬂxmﬁmﬁﬁm
ﬁmﬁﬁﬁﬂmﬁﬁ.%wﬁﬂwwﬁmﬁawaaﬁﬁ
wwﬁ@aﬁ_ﬁﬁaﬁaﬁqﬁ@nﬁﬂmaﬁzmmﬁrﬁm@m
qﬁmma@ﬁmmwwﬁwwmﬁmﬂﬁ%ﬁwﬁm

ﬁmmﬂﬁ:ﬁ%%mmwﬁaﬁwwm
P.T.O.

BEIQ.



1221

2,

2 9

ﬁqmﬁ%‘sﬁ%m&nmﬁﬁﬁmﬁﬁwm—ﬁmmwmWﬁm",
HfG— | T+7
@ fadw o =t g @ ‘

ﬂ%ﬁﬁﬁ?ﬁ-ﬁ?ﬁﬁquﬁﬁﬁwmﬁﬁqﬁltﬁmaﬁ{ﬂ
& Za-ufrdl & e & ©F W eh Freeh— P A e A 9 st
R AL Rl 3 O I @ v s i frar o Weh- 97, farrett-srt |
T TE T F F AR M A oS st F wh wwEh g % et O, whew
F A & S F TR fowel-ad w9

(@ fadw: wdema =1 g @

B o veet o foman o1 6 7w R T R, WS 1 oy R S A )
Sied & anafaeal frlt o weafe e Fert ¥ T Sasis A 21 ok
ﬁﬂﬁ?ﬁﬂﬁﬁ?ﬁ%ﬁ%ﬁ?%ﬁﬂﬁﬁﬁlﬂﬁ‘ﬁam%m
ﬁﬁﬁm%ﬂﬁmﬁ'é%qﬁﬂ?ﬁmwmqﬁ;mmén
amahmﬁﬁvama@t%ﬁ-mimha#amﬁﬁ'amﬁhaﬁﬁw

- HaT

5.

A = #m i F F ved M A9 A e 1 S G o T = 9 SR 6
?ﬁ%@aﬁlﬁ'ﬂﬁﬂ@waﬁaﬁ@%wméngﬁﬁmﬁﬁ_m
wled B 1 gt F T o W M W st e I § ok o § SR 5w o
[ @ Y otk TR forl @ T R w A ¥ N 3w 0 T G @ Y
azﬁnmmzr@,ﬁ_aa‘f_@rmﬁmmmmmmm_é,aﬁtmm
A A UE & o W B, T w0 3w G de @ 4

‘@Wﬂ@ﬁaﬁm’m‘ﬁmﬁ’maﬁu@ﬁéﬁmml 15

'ﬁﬁﬁﬁ@tﬁﬂ’ﬁﬁ%ﬁmﬂnmmﬂuﬁm%mﬂﬁaaﬂtm.mv
ShIYT Sifere | -

3era
‘ﬁ'm%wﬁﬁqﬁaﬁﬂgﬁaﬁfaﬂmﬁﬁm?? wWE RN 15
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[This question paper contains 2 printed pages.]

Sr. No. of Question Paper_ : 2969 FC-2 Your Roll No..coesssssonse
Unique Paper Code : 12311202

Name of the Paper . History of India — II

Name of the Course : B.A. (Hons.) History

Semester 11

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

l.

Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt four questions in all.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.

5 G o (s N G G

1L % Y -9a @ e # e Ry w FuiRa v = s s falaw

2. Hd IR Y & IR At |

3 ot e & 3w W B |

4. TH UST-UA &1 IR Jen a1 BE R v wmon W A, afte ot 3R o wemw v
g BH =y |

1. “Asoka’s Dhamma was mainly an extension of his administrative policy’. Do yoﬁ
agree ?
‘3relieR T U WA S9! WaIE-eR A T faer a1 @ s gehd B 7

2

Discuss the non-agrarian economy from 200 BCE to 300 CE with special reference
to commerce, craft production and currency.

MR, TEAHR, TF AT vomelt & fafw Tt § 200 @1 9 9 300 FHG 9% IR -FE
srferae &t o=t it |
F.1.0.



3969 2

3

On the basis of available sources discuss social changes from 300 BCE to 300
CE.

wwaﬁfa}mnwsooémqﬁ% 300 ¥ & NH §Y ARIRTE TR 9 <
ST |

Review the political formations under the Kushanas and Satavahanas.

AT O AIGETE I59 ae 95 aditer 9 |

Write an essay on agrarian €xpansion and urban changes from 4 century CE to
750'CE.

ﬁ?ﬂmiﬂﬁ@wsoﬁaﬁa}éﬁ@ﬁaﬁﬁﬂﬂﬂwmqﬁaﬁwﬁdu%ﬁam

L]

Trace the growth and development Puranic theistic cults during the period of
study.

W%%ﬁmﬁm@ﬁﬁ%ﬁmaﬁmﬁﬁ%ﬁr

Write an essay on important features of Pallava and Chalukya art and architecture.

Wmesﬂtwaﬁg@ﬁﬁwﬁwwﬁw%ﬁwn

Write short notes on any two of the following :
(a) Mauryan Art

(b) Mahayana Buddhism

_(c) Purushartha and Samskaras

(d) Scientific and technical treatises
frreafofas ¥ ¥ Rt @ w wfer it R
(%) deren

(@) e dgent

(1) 9&w vF wEwR

(7) d=fen ok Taen =

(3500)




lestion paper contains 3 printed pages]

Roll No.
of Question Paper : .3970
: Paper Code : 12311201 . | FC-2
of the Paper . Social Formations and Cultural Patterns of the Medieval World-II
of the Course : BA (Hons.) History
'.te.r S |
ori:3 Hours | Maximum Marks : 75 |

(Write your Roll No. on the top immediately on receipt of this questiair paper.)
(20 - & e @ S faw g Freifia wm W ST st fated 1)
Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.
T :mw—wwwﬁﬁﬁﬁmﬁw@mﬁtﬁaﬁq;ﬁﬁﬂmﬁﬁﬁ
] WEAH TR B edl dMed |

Attempt Four questions in all.

All questions carry equal marks.
@ AR G H SN AR |
Wit i & s T ¥
What role did Patrician and Plebeian orders play in modifying the structure of the Roman
Republic (509-27 B.C.) .

Jue TORTSE (50927 SLEL) F OWTEA Rl GEAfHd H  eltd ae

TR @ @ iRt ® fadEe HIN |
P.T.O.

)



(725 3970

Evaluate the contribution of Augustus Caesar towards the establishment of the Roman

Empire. |
mwﬁwﬁﬁmﬁmzﬂm%maﬂwmﬁmr

Do you agree with the view that slavery was institutionalized in Ancient Rome ? Give

reasons.

N Y T WA W WEHd € T W I9 W qrR-wen geenf ef ? HRU T
: |

Examine the causes for the decline of the Roman Empire.
AT WHST % 94 & RO @ Sig wifae |

Outline the major developments in the feudal organization of production in Western Europe L

between 8th to 11th centuries.

sﬁﬁ11ﬁmﬁ$anﬁaﬁ@uﬁmmaﬁwﬁm
T ] FR@ YT FIET | ‘ '

Analyse the causes for the onset of crisis within feudalism in Europe in the 14th

century.
14ﬁWﬁ@mmﬁmW%mwﬁ@'u@ﬁm |
Evaluate the socio-economic and political changes during the Abbasid Caliphate.

sl feerna & weifs-onfds w wsifE aEd @ gedie #@itm |



( 3) | 3970
Write short note-s on any fwo of the following : |
(¢)  Roman civil wars
(b) - Rise and spread of Christianity
(¢) | Pre-Islamic Arabia
(d)  Emergence of towns and trade in Medieval Europe.
Frefafed 4 & fadt & w dfera feooit fofan .
(1) W & & 4%
(@) S W = w=T e f
(W) - arE
(%) "R JU9 F el 9 AR H qHd |

0 -
|
I
:
I
|

3970

L2

3,500



1is question paper contains 3 printed pages]

Roll No.
No. of Question Paper : 6085
1_ique Paper que | : 231201 ) F
ime 6f the Paper - I{istog-y of India-II -
me of the Course : B.A. (Hons.) History
mester - - i
rration: 3 H-ours. - B . Maximum Marks : 75

: (Wrzte your Roll No on the top immediately on recezpt of this questzan paper.)
(wm—w%ﬁaﬂﬁmﬁqﬂqﬁtﬁﬁamm FHYAT eaawqra?ﬁfﬁgql)

te : Answers may be written ezrher in Enghsh or in Hindi; but the same medium should be

used throughout the paper

oot : wm—ﬁmwaﬁvﬁwﬁiﬂm@wﬁﬁm me
mw%ﬁ‘é\maﬁm

. Attempt any four questlons

i ~ All questions carry-equal marks.
el w Tl B ?ER A
ot T P s W §
“Asoka’s Dhamma was mainly an extension of his adnumstratwe pohcy ” Do you agree ?
“mmmg@ﬁzsﬂaﬁmﬁaﬁﬁmﬁm?ml"wmm
g5 | ! .

P.T.D.



"ﬁaﬁﬁl@ql 2

23 6085

Discuss the non-agrarian economy from 200 BCE to 300 CE with specual reference to commerce,

craft production and currency.

R, W@WW@WWﬁﬁNOW'@%OMWW
Sderaen ® w= Fit

On the basxs of available sources discuss social changes from 200 BCE to 300 CE.

'Wsﬁﬁrﬁmmzoom@womoﬁmawﬁaﬁqﬁaﬁ
ﬁaafaﬁﬁrin

Review the main features of Satavah‘_aﬁa pOli;f_y.

T quaw a'?r g@ ﬁﬁqﬁra?rﬁ mﬁaﬂ ﬁﬁr&:

Wnte an essay on agrarian expanswn and urban changes from 4th century CE to

5750 CE

ﬁ}#}mﬁmam@aﬁﬁaﬁagmﬁm@mvﬁaﬁm

Trace the growth and development Puranic tradltlons dunng the period of study. °

am?mﬁﬁummaﬁﬁqﬁmﬁmﬁoqi@u@a
'aﬁin

Wnte an essay on important features of Pallava art and architecture.

wamﬁnwmﬁg@ﬁ@w@mwﬁauﬁmu




(.3) | 6085
Write short notes on any two of the following :
" (a) Maury'ap Art
5 Mshayana Buddhism =
(c)' | Kanishké.'l |
(d) Sansknt, sclcnhﬁc and techmcal treatises.
ﬁmmﬁaa ER ﬁFa‘f z-fr w Hfm ﬁftmﬁ faﬁaq
(a) tﬁ?fam
(b), FEET mﬁ
(o) Eﬁﬁﬁﬁ usm

(aoaaﬁésrrﬁmai‘rraar-ﬁﬁmu_.

3 . e 400



This question paper contains 3 printed pages]

Roll No.
| S No. of Question Paper : 6086
Unique Paper Code P 231202 F
Narﬁe of the Paper : Social Formations and Cultural Patterns of the Ancient and
Medieval World
Name of the Course : B.A. (Hons.) History
Semester o | |
Duration : 3 Hoqrs Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)
(39 99399 & foerd & s faw 1w fraffg o o YT 3TshATh ferfia |)

Note :  Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.

M:wwmwwwdﬁaﬁm%ﬁfﬁwwﬁﬁm;ﬁmmﬁﬁﬁ
T HEH UE & e =i

Attempt any four questions.

All questions carry equal marks.

g =w® v B 3w A
it 9H & o wEm §
Why did the conflict of the “social orders” fail to resolve the social tensions in the Roman
Republic ?
ﬁmmﬁaﬁwﬁmﬁmmmmwwmmﬁmﬁmﬁ
@l ?
PTO



( 2) ' 6086

Do you agree that slavery played a central role in the growth of Roman economy and

society ?

N A Heud § foh 19 ot srefogeen ik oo & foem § qmwear w1 a9
ot @2

Critically evaluate Augustus’s rise to power.

TR w1 T H gfe H SACEAHS ik Hife |

Describe the processes that contributed to the emergence of feudal relations in early

medieval Europe.
IRy wermey e § gEd g6l % Sga § 9 whEasl @ areE w
SR U wifd |
How did fhe growth of technology and the development of towns change economy and society

in medieval Europe ?

HETEA gAY H b qu el fawm ¥ foRw R sefomorar @iv gue
1 ufafda fear 2

Critically evaluate Muhammad'’s success in unifying the tribes of Arabia in 7th century C.E..
ma’fwﬁzﬂé.ﬁmﬁmﬁﬁwqﬁ%mﬁﬁwﬁm
h1 SA=TITS Heih HITST |

Write an essay on the Umayyad or the Abbasid Caliphate.

TR A1 HAsHl faemrd W ey fafEw




o
i

3.

)86

(3)

Write short notes on any two of the following :

(@) Roman culture

(b) Decline of Rome

(¢) Peasant rebellions in Europe in the 14th and 15th century

(d) Al-Rashidun Calipha.

(ﬂ)-14ﬁﬁm1sﬁ¥ﬁlﬁﬁ?{ﬂqﬁﬁﬂrﬁﬁﬁ€
(q) Ja-wigT @i

6086

400



This question paper conteins 5 prinied pages. Your Roll No: ivce-ccoin sesiinnsins

@

';"32. No. of Ques. Paper : 1346 F

[Inique Paper Code : 210201

Name of Paper : Truth Functional Logic and Quantification Theory
Name of Course : B.A. (Hons.) Philosophy '
Semester 11

Duration : : 3 hours

Maximum Marks 1 75

(Write your Roll No. on the top immediately on receipt of this question paper. )
(59 9v-97 & faea & W G2 7 Haffa @ ) s s s )

NoTe:— Answers may be written either in English or in Hindi; but the same medium should
used throughout the paper.

fewutt.— 57 yoT97 1 I HT A zrrfﬁ?ﬁw?wwﬂe?ﬁméﬁﬂmﬁmwmm
& &1 =Ee

Attempt all questions.
aat 7vl 3 W FET L

Section A
s

1. g‘a) Determine by truth table method the 10g1ca1 status of the followmg statement |
orm: 3

Wmmmﬁwﬁﬁaﬁﬁmmaﬁmﬁ%ﬁaﬁﬁﬂfﬁaaﬁm
[po@ o r)]'D [(ps @v(per)]

(b) Test the validity / mvahdlty of the followmg argument by using truth-table
method: . 4

"o el fafer grr fefeoRaa gfea o duar/ sduar FufRe ik

If terrorist’s demands are met then lawlessness will be rewarded. If terrorist’s
-demands are not met then innocent hostages will be murdered. So either Iawlessness '
will be rewarded or innocent hostages will be murdered.
uﬁmﬁﬁaﬁmﬁaﬁwwﬁwwgﬁmuﬁmﬁvﬁﬁ

ﬁ?ﬂwﬁwmﬁmmlmmamwmmwmﬁ
g1 Bl | ,



134¢

2. Test the validity/ invalidit
ad absurdum method:

‘ gﬁamﬁﬁﬁwﬁaﬁﬁ&m/mwﬁam@mwmﬁmﬁa

(i) " ~pvgq

@ (p29) 5(psr)

(1) ~(B-C)D(DVE)
~(Bv(C) '
7 LDy ~E

i Nso0
(N«Q) 5P
~(N+P) /.".~N

5. Give dual of the following schema and justify your ansWer: | o s 4
A PTET T qA AT TR R

(i) (p>q)=r
' ‘OR/a1emqr

(i) Prove that a schema is valid if and only if its dual is inconsisten_t. Lk E
& ve sve 79 sik Bas ﬁa‘%&r%ﬁm%‘mﬂmaﬁmaf



o

3 _ iR

Symbolize the following argument and construct a formal proof:

FreiferfaT gfa b adieTeTe WY o IHS! T BT APRD FA <

If you study arts then you will develop an understanding of people, and if you s
sciences then you will develop an understanding of the world around you: So if
study both arts and sciences then you will develop an understanding both of the am
world around you. .

I 9 Bol BT AT B B Al YA AT B GHAT D EHaT @1 fara 8, e af
fasie &1 JRTT HRA B, A ITH AR BT WS BT & BT fpra & | o 3y amy )
aiik fasi= &1 JEgas B B, O 39 ST @fddl YT WER ®1 aHse @) Al &1 e 8

OR/arear

Construct a formal prot.)"f of both the following:
ffaRaa & neERS YT BT FREAT PBIfoTa:

(1) WoX
Yo X
/.’.(WVY):)X

(i) A (M>N)+(0oP)
~NV~P-
~(M+*0)>Q
/.5 Q

Symbolize any two of the following;
frfead # & el &Y &1 wehPrHwr B

- (i) I can pass the exam only if I study.

# v # Sl & W € Badt Af% A g B |

| (ii) Extreme summers and winters are both-uncomfortable.

8.

A g T i Fg S AREERS 6 2

(iii)I will be kind person if I am a good doctor._
i 1o qurg @i § aft 9 e e fafees §)

(iv)India will not develop atom-bomb if either Pakistan or China are ready for peace t
AN 3] 99 B R T8 SR afS e swrar A wiff art @ fow SR 1

(v) A book will be interesting if and only if it is entertaining.

- P frae fRoew & ot ok doa Il 97 wENGS B .

Write short notes on any ane of the following:
frrmfefaa # & foslt v w g fae fordk:
(1) Two senses of ‘or’

afe a1 & &Y aef

(ii) Advantages of using symbols in logic



(ili)Explain and illustrate antilogism

9. (a) Rewrite any one of the following into stroke—function:

ﬁww@mwﬁmaﬂm'
) (p v~q)+q e | —
i (Pt vgyem =

. (b)_ Define any one of the-following in ( m-, °)

@ (p=q)Vq

@~pV(p>q

| 10. T :anéla'te any four of the deId\Ving into the notat’ior_;s"- of l-p_r.opjti'éitidnéi"ﬁmctiqns ‘and

Quantifiers:

) Artists are always sensitive,

| (ii) : Not every aﬁplicaht was selected,
T4 SMAgHT B A T T
* (i)  Some foods are edible only if they arc cooked properly.
- BY HISH dae T @ ¥ v 9 oy I

(iv)  Any person s a coward who deserts,

aﬂgwﬁam%mwmﬁa%r .

() Only well trained horses are worthy of riding,

‘vi)  All poli_ée_ man and fire man are bpﬁi ,inglisﬁepsablc-énd underpaid.

541 1'._(5) Construct a formal proof of validity for any one of the following: |

©  OOx5~Expy
' (Fx > Ex)
/2 (%) (Fx > ~Dx)



L e g i .
“ ) @) (YxeZx) | '

(x) (Zx D Ax)

/. (@x) (Ax e Yx)

(b) Symbolize any one of the f°110wmg arguments usmg quantifiers and construct a
- formal proof of validity: : :

gﬁaﬁ%@ﬁﬁ@ﬁmﬁmm wﬁ*&w%wﬁamaﬁ
Wﬂﬁfﬁ

@) All teachers are enther ‘enthusiastic or unsuccessful Teachers are not all |

unsuceessful. Therefore there are enthusiastic teachers

wﬁﬁ%mm@mmeﬁ%eﬁﬁwmeﬁeﬁ%mm@ |
i Bt € _

(u) No employee who is e1ther slovenly or d1scourteous ean 1 be promoted Therefore, |

. no discourteous employee can be promoted.
fopell rfaTdy O ST 4T SRCAN 8, Hﬁuﬂ?ﬁﬂﬁe’rmﬁlwmaﬂﬂmmﬁ
aﬁqa‘lfrrﬁf?e"f‘e"rﬂ'cﬁh%l s :

12. Prove the invalidity of any two of the followmg TR 10

.-_mwesweﬁmmﬁm

Sl (Elx) (Ax Bx)
Sl (3xy
(Cx = Bx)
fas (x)(Cx:~Ax)

s (ii) : (xj (Sx o~ Tx)
L (®(TxoUx) - L
/o (@x) (Ux*~8x)

(i) (%) (Mx > Nx)

(x) (Mx o Px).
/" (%) (Px ©~Nx)

7 00
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. -:i[uestiou paper contai::siz printed pages. Your Roll No. .....civsvvines. Srsaet

0. of Ques. Paper : 1347 e F "
uePaper Code ;210202 S BN

Name of Paper : Elements of Indian Phllosophy -1

Name of Course : B.A. (Hons.) Philosophy

Sernes : 11

Durat : 3 hours

Maximum Marks S

(Wnite your Roll No. on the top immediately on receipt of this question paper.)
&amw%ﬁaﬂ'a’? a0 f@ wmmwmmwu

E’J‘ E??I an%m | T ;
Atrempr ﬁve quesnons All questzons cany equal marks

rﬁﬁ?wam#meﬂ%mwﬂm%mm?: e

lj._ "That Brahman is surely dlfferent from the known and again it is above unknown"

Explain this with reference to the nature of Brahman in Kenopanisad.
Haﬁrﬁaamﬂmﬁﬁﬁ'%aﬂvgﬁ mﬂ@rtﬁfm Eﬁﬁmﬁwﬁaﬁhma%wa%
mﬁmazmaﬁﬁm R

OR/ amar

What ‘is the philosophical significance of the Yaksa Uma Hemavati epxsode in the
kenopanisad? Discuss.

Wﬁw@ﬁaﬁmwwmﬁ%mwm?ﬁ%%t

N

Explain and evaluate the doctrine of "dharma’ in pirva- mimamsa.

.@-ﬁmﬁmﬁ%ﬁmaﬁm@wiﬁﬁml
OR/ srerar

Examine the theory of valldlty of knowledge advanced by the plrva- mimamsa school
of phllosophy '

aﬁamwﬁqﬁammﬁqﬁma%ﬁm

P.Teq



2.

3. State the notion of Brahman as explained by Sarhkara's,

Wfrsaﬁ:ﬁmasaaamnaﬂ YRAT BT |

OR/ arerey

What is mayavada according to Sarhkara? Explain its 1mportance in establishing non-

‘dualism.
Wﬁwmwﬁ?aﬁﬁaﬁmﬁmmaﬁwﬁr

- Critically explain Ramanuja's conccpt of I$vara,
SIS @ $39% o) STawROT T aﬂa‘ﬁﬁm TET BT |

OR/ emfﬂ

Examine critically the nature of hberatmn in Ramanula s phl[OSOphy.

RTHIFS BT Hig—{avys saeRor 35

: Wrzte short notes on any two of the followmg

T 5 @ W?Tféftal%mrﬂﬁ%ﬁm}

(a) Samka;ra s rejection of karma for Moksa
ey B I Ry T Eﬁ‘f

. (b) Nature of ¢ svarga accordmg to Mlmamsa

AT g % awmaﬂmw

(c) Sabdabodha

(d) Akhyativﬁda
na

(e) Tripiiti Pratyksavada
—Ycerarg

3oo
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This question paper contains 3 printed pages]

Roll No.
- S.No. of Question Paper : 3983
Unique Paper Code : 12101201 FC-2
Name of the Paper . Greek Philosophy
Name of the Course : B.A. (Hons.) Philosophy
‘Semester- |
Duration : Three Hours Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)
(39 9919 & foed & R fou v fruife wm woso s fafan 1)

Note :  Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper.

fooqult : =9 gE-uF &1 I St o el fed e o § S dfeR wsht s
% WegH TH € OBl ey |

Attempt all questions. -

All questions carry equal marks.

| Y % SRS
it g & 3w TEE 2
1. What' are the common concerns of the pre-Socratic philosophers ? Discuss.
Td-ghUet QiR wmr favead wn €2 fagem wifem
Or
(1)

How did the pre-Socratic philosophers explain the principles of nature ? Discuss.
-Gl SRiRl A Wikfde fagi w1 saren few yeR &t 2 fageEm
HifSTg |

P10,



L

(2)

Examine the claim of Heraclitus that all things are in flux.
mammmﬁqﬂmwﬁw@mﬁ%]
Or
(3rera)
Explain the nature of Being according to Parmenides.
e ® g ww W () % e w s wi
Was Socrates a sophist ? Discuss.
M ghUd Tk difre F 2 faoema Shifemy |
Or
(3rgam)
Explain Socrates™ conception of virtue.
R0d & WO & g s e SIS |
What is justice in the state according to Plato ? Discuss.
W & AER U A = s ¥ 7 faae T |
Or
(31eram)

Why did Plato censor the poets ? Explain.

A HeRE W osiww @ e 2 s hifeg |

3983




(3) | 3983

Write short notes oﬁ any two of the fol-lowing :
Prfafan § 3 fedl @ W e femd ffen
(/) Matter and form (Aristotle)

T qdl R (SE])
(ff) Man is the measure (Protagoras)

oA € HEE (WTRH)
(iif) Tripartite division of soul (Plato)

e w1 Bredt fausE (@R |

3983 800

W




This question paper contains 3 printed pages)

Roll No.
S.No. of Questidn Paper : 3983
Unique Paper Code : 12101201 FC-2
Name of the Paper : Greek Philosophy
Name of the Course : B.A. (Hons.) Philosophy
Semester | |
Duration : Three Hours Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)
(38 J9-79 & fied & s fou e fauifa @ w s sigeais fafen 1)

Note :  Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.

fewoft : 38 wA-T 1 W SiSh A et fet T § e Sfee Tt o
&1 HIEEH Uk @ 2 SifeU |

- Attempt all questions.
All questions carry equal marks.
adft g & s ey
aft g & o A ¥
1. What are the common concerns of the pre-Socratic philosophers ? Discuss.
oGl Sl w e fadead e € 2 fRe wifeog
Or
(1)
How did the pre-Socratic philosophers explain the principles of nature ? Discuss.
E-ghudl SRR 3 Uhfos fagl @ e Y weR s 2 fade
HifT |

P.T.O.



(8]

(2)

Examine the claim of Heraclitus that all things are in flux.
mﬁwﬁmﬁﬁmﬁmﬁwﬂ@mﬁ%l
Or
(3reram)
Explain the nature of Being according to Parmenides.
AT & g W ww () 3 owes w1 sren i
Was Socrates a sophist ? Discuss.
M YPIA Th AR & 7 foqa=mr sifem
Or
(37eram)
Explain Socrates’ conception of virtue.
96 % W0 % fagr w osmen st
What is justice in the state according to Plato ? Discuss.
ﬁé%mwﬁﬁqw%?ﬁéwﬁﬁm
Or
(3rram)

Why did Plato censor the poets ? Explain.

@aﬁmwd&;ﬁmﬁm?wﬁml

3983



( 3 ) | 3983

Write short notes on any rwo of the following :
Frfefen § ¥ fRd @ W e Rt fafan
() Matter and form (Aristotle)

S qUl IERR ()
() Man is the measure (Protagoras)

HT € AueE (WIRY)
(iti) Trpartite division of soul (Plato)

A w1 BEd fawsw (%R |

(==

300 -



[This question paper contains 2 printed pages.]

Sr. No. of Question Paper : 3984 FC-2 Your Roll No................
Unique Paper Code : 12101202

Name of the Paper : Ethics

Name of the Course : B.A. (H) Philosophy

Semestm; 0

Duration : 3 Hours Maximum Marks : 75

Instructions for Can didates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt any all Five questions.

3. All question carry equal marks.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.

BEl & fow Bw

| wm—w%ﬁaﬁﬁwﬁqwﬁﬂfﬁawwmaﬂmﬁml

2. el U YE D IR Ay |

3. il v B 3F wur D)

4. mm—waﬂwaﬁmﬁa%ﬁwwﬁﬁﬁw,éﬁmm%ﬁﬁmmmw
&l BT =y |

1. Trace the development of moral consciousness from customary morality to reflective
morality
m%%w%w%ﬁ%ﬁmﬁamm

2. "The good for individual is an activity of the soul in accordance with virtue, or

if there are more kinds of virtue than one, in accordance with the best and the
most perfect kind." Discuss, (Aristotle)

£ L0,
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(%]

TS YA ST GG D & Wiafafer 7 ar ol vy 9 31eres ager & o e
A T I GG F A R i (sreg) -

Critically evaluate Mill's theory of utilitarianism.

e & Swaifiamae = AT HeaiarT i

"Moral values are not universal and objective, they are relative to individual or
culture". How far are you in agreement with the given statement? Discuss.

“%wﬁ%ﬁa@wﬁﬁ,%mﬁaﬁa@%%m&aéﬁ?” | 3T &
W%m‘wma"?ﬁﬁwaﬁlﬁa

Write an essay on Niskamakarma .

ﬁwﬁwwﬁﬁuﬁml

Explain the philosophical basis of Gandhi's concept of Ahimsa ? Explain.
wﬁﬁ%m%ﬁm%ﬁﬁamaﬁwaﬁml

What is meant by euthanasia? Throw light on the moral arguments for and against
it.

W%wéﬁ?ﬁm%?aﬂéwwmﬁﬁqwﬁm_ﬁwmgﬁm

Write short notes on the following ( any two)

() Four Purusrthas

(i) Capital punishment

(111) Goodwill (Kant)

Ffefes w afra o R (fer=gt =)
(1) =R gere

(i) ¥

(ill) T3 Feaew (o)

(800)
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Sr. No. of Question Paper : 1763 F YourRoll No.......ccoeu00s
Ug TH 1 Al JMAHT HHI.............
Unique Paper Code ; 232203

R IECCTS

Name of the Paper . Political Processes in India

Name of the Course . B.A. (Hons.) Political Science

Semester / Annual : II Semester

Wi /A [ESIR Tt

Duration : 3 Hours Maximum Marks : 75
w3 e quiteR : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt any four questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the same medium
should be used throughout the paper.

B & forg Ao

L W -T @ e 8 e R e Feifa v w s s R

2. ol o vt & SR Afo |

3. A U FE G B

4, wm—wwwmm%ﬁﬁﬁwmﬁﬁﬁq,%ﬁﬂﬁaﬂﬁaﬁwwﬁ
BT =R |

1. Discuss the features of Indian party system.
I Eelld Wometl ot fasioansty &t sawer i |

2. ldentify the various determinants of voting pattern of the electorate in India.

F1.O.



Trace the history of the reorganization of states in India. To what extent it has
been able to satisfy the regional aspirations ?

RIGH ﬁﬁ%wﬁ%ﬁsﬂmmmqlsﬂ%ﬁwﬁmw%mﬁ
g gd E 7 |

What do you mean by majority communalism ? Do you think it is dangerous
for Indian democracy ? Give reasons.

a@@mmﬁm%mwwﬁ%?wmﬁmﬂwwﬁum%m
BRI 8 ? &R 9eEy |

Examine the issue of affirmative action policies and their impact on Indian
society.

WWW%@@WWWWWW@WWI

What is meant by politicization of caste ? Discuss the changing role of caste
in Indian politics.

aﬁ%a}mﬁmwwwf%?wﬁumﬁrﬁwﬁaﬁa&aﬁﬁﬁmwsﬁﬁ
T |

Discuss the changing nature of Indian state in the context of globalization.
W%Wﬁﬁwﬁmaﬁmuﬁaﬁﬁwaﬁﬁm

Write short notes on any two of the following :
Freferiers & 3 et @ w e froht ey
(a) Minority Communalism
SHCTHEAF IR
(b) Role of regional parties
CEERE e e
(c) Gender in Indian politics
IR TS & Ry
(d) The politics of OBCs
A =9 o) &t worify (900)



This question paper contains 4 printed pages]
Roll No.

1 $No. of Question Paper : 1388

Unique Paper Code : 211211 : F

Name of the Paper : Physiological Psychology
Name of the Course : B.A. (Hons.) Psychology
Jl Semester | |
| Duration : 3 Hours ' Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)

J (T8 7993 % frerd & o o 7w feffa wom w s smeais fafea ()

Note :  Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper.

oy :ww—www@@m%ﬁ%@@wﬁﬂm;ﬁﬁﬂwﬁwﬁw
e TE @ e wfe |

Attempt A/l questions.

All questions carry equal marks.
a4ty F sw
aft T B s e
I Discuss the relationship between physiology and behaviour. Describe any orne of the methods

~of Physiological Psychology. 5.10

' mmﬁaﬁammm$ﬁamwﬁémﬁﬁmmmﬁﬁaﬁaﬁm

Teh Hiafy &1 smeq siftag)
P.T.O.



(2 | : 1388
Or
(3reram)
Describe any one of the fbllowing methods of Physiological Psychology : 15
(!)  Recording and Stimulation
(zi)  Ablation and Histologicél.
SRR TR # fefafen faft d @ e T W sren SR
() 3ferEd wa S fafiat
(i) SR 3R Su fam fasTeT fafrd)

Describe the structure of a neuron and its various types. Give a detailed account of the electro- &

chemical process of nerve conduction. CIRE
T B G R TaR R R A A S SR S
%I fagd-wem vfFEa w1 wfewr 9vi st
Or
(arera)

Describe the structure of synapse. Explain the nature and process of communication between

neurons. '— 5,10

A A FH WA BT A0 FAA ) Am Fifrmist & s i @ wey ok g
%1 FUF HIfST |

Tabulate the major sub-divisions of the central nervous system. Describe the role of cerebral

cortex in behaviour. 3,12




¢ 3% ' 1388
Or
(GTW)

Describe the structure and functions of spinal cord. Name various cranial nerves and give their

functions. 9,6

U A8 H WE IR T w1 gue. wifee | fafum wure dfeel & oam el
gy fafe |

Discuss the functions and abnormalities of the Adrenal glands. 15
fygerr Al & yHrl T STEEEEed @1 faeem - wifa |
Or
(3FrE)

Describe the role of hormones in behaviour with special reference to any fwo endocrine

glands. : 15
foreel &t et aferd @ o wesf § wraEr § ufy T @ yfiw @ 9w
(a) Write short notes on any one of the following : 0ty

() Pineal gland

(i)  Supporting cells of the nervous system

(7iif) Hemispheric specialization.

frefafed # 9 fodl e w dfea feomit fafan

() HEE ufa

(i) TP T B TEEE HIRTHT

(iii) AdTeg fafyrEient |

P10
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(b)

(4 ) . 1388

Fill in the blanks : 10
()  Nodes of Ranvier refer to ..................

(#) Part of cerebral cortex involved in vision is called ...........

(iif) Hormones secreted by ........... control the reproduction in body.
(7v) Function of the reticular formation is to regulate/control ..............
(v) Post-synaptic potentials are caused BY ssccininii

(vi) Neuronal impulse travels from ... O In a neuron.

(vii) The sub-divisions of hind brain are ...

(ix) The bunch of fibres that connect the two hemispheres is called .........

(x) Growth Hormone is secreted BY' crreerrsinans

for sl = o iR

@ TRER Fpg oo N FERE E 5
(u)ﬁ'&ﬁmmaﬁj&?ﬁmﬁ ..................... m%l
i) TS W BREET H TEY AR W s B
(iv) VTR WIORT 5 B L i qg e . —
IR R e O — e
(vi) T FRIET BT T A B B B g——
(vii) T TR @ MY e %
(viii) TR T oy e T
(ix) T AR e e T A B D @y oo FEd &l
G e e T
4 300
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This question paper contains 4 printed pages)

Roll No.
S. No. of Question Paper : 3987 _
" Unique Paper Code : 12111203 o | FC-2
Name of the Paper _ X Biq-Psyéhology
Name of the Course " BA. (Hons.) Psychology
Semester B ||
Duration : 37 Hours - | Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)
(39 W¥9-93 & fied € o feu mu fuifta e w st s fafem 1)

Note :  Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.

femutt : 3@ WA-T @1 IW ST A fe<l fobddt ww wmn A ifS o it s
aﬂmmﬁﬁ@malﬁq |

Attempt A/l -questions.
All questions carry equal marks.
wit v F sw A |
ot Tl & 3% TUH § |

1. Describe the Bio-psychological approach to the study of human behaviour. Critically evaluate

Ablation and Histological methods. 3,10

YHdY Fder & 9H & fau Sig TRifagE Surd o1 99ie hife | e
3R o fomrcTs faftdll &1 sTeeIeTE ST FfSU |

PTIO.



¢ 20y | 3087
Or
(3reram)
Discuss the subject matter of Biopsychology. Explain the stimulation methods. 7.5,7.5

Eﬂaﬁfﬁamﬁﬁmammﬁm | IooH faftdi @1 aviq Fifvw

Describe the structure of neuron and its various types. Give a detailed account of the electro-

chemical process of nerve-impulse conduction. : | | 5,10
| ﬁﬁw—aﬁmﬁmaﬂxm&fwmwww | dfeeT amam
'Hmﬁﬁga—wmwmmﬁm |
. ,
(3teram)

Describe the structure and types of synapse. Give an account of the process of communication

between neuron. : . 5,10
T T K AR THR e F | A SR @ e i
H A w1 i i
Briefly state the functions of major fore-brain structures. 15
T Sumftash Wri B weE W dw oo Fin

(3rra)
Tabulate the majof subdivisions of the Central Nervous System. Describe the functions of

the Autonomic Nervous System. 5,10
dﬁmﬁ%mwﬁﬂmﬁmﬁm | WA A 97 & gwEl
H1 I HifGT |




(33 3987

Why is pituitary gland called the ‘Master Gland’ ? Discuss its major secretions and their

functions. i : 3,12 -
Uy ufa 1 guE U = ke S 7 ? Uem Uy & yge wel el s
w1 v i '

Or

(31

What are the general characteristics of endocrine glands ? With the help of a diagram show

their locations. Explain the functions and abnormalities of pancreas and pineal gland. 5,10

sfa-grel Ufedi g fodvad @ ¥ 2w qiE # W 9 U
SH &% AN H yefia wifse lmﬁﬁﬂﬁmﬁﬁa%mﬁr{ﬁ?ﬁﬁ
aﬁwﬁﬁrq

(A) Define any five of the following : ' 5x2
@ Supporting cells of Neryous system
(1)  Cerebrospinal fluid
(7)) ~ Depolarization
(iv)  Mention the names and functioﬂs of any 'fqur cranial nerves
(v) ACTH
(vi) . Neuroplasticity of brain

(viiy Dopamine hypothesis.

P.T.O.
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B)

( 4) 3987
fafafaa § 4 5= uier = R fafae -
() dfEw 99 ® gGEEw ifgreRd
() Aia=HEE g
@iy Tagan =t wfew
(v) Tt = e el (R @ ) & ek e fafa)
(v) TH.IATE |
(vi) TfESF H =R |

(vii) SUMERET 9REeqr |
Fill in the blanks : : 5x1

()  Post-synaptic potentials are caused by ................. :

() - Hormones released by .................... glands control the reproduction in the body.

(i)  The conch of fibres that connects the two cerebral hemispheres are called

.....................

(fv)  The functions of reticular formation are .................. :

(v)  All-or-none law of neuronal functioning means ... .

e M & g s -

) T T R (SRERREE) - R N

B e - ifedi g W R S A i e (e e
g9 &1 e s §

(I'if) @ﬁmwﬁﬁmm%ﬁaﬁm% ..................... w
Tl

(iv) Wﬂ ﬁﬂ:ﬁu‘[ a}m % ..................... | |

(v) T ThE D T HP AW G o T Frm w ey o |

4 600



[This question paper contains 2 printed pages.]

Sr. No. of Question Paper : 3988 FC-2 Your Roll No...ccovrennenne.
Unique Paper Code = 12111204

Name of the Paper . Psychology of Individual Differences

Name of the Course : B.A. (H) Psychology

Semester ol

Duration : 3 Hours | Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt all Five questions.

3.  Answers may be written either in English or Hindi; but the same medium
should be used throughout the paper.

ol ® fou fFdwn

L T T -E @ e 8 W Ry e Freifte e W s sEwe ke |

2. O dier yEA & IR GNY |

3 = WIT- T & SR Sien a1 Bd fedt v s A Afre, AfeT at STRI o e v 8

BT =f8T |

Discuss the nature of Personality. Explain the social cognitive perspective of

personality development. (5,10)

SrfFeT & weT F T Y | Al @ e § g ST aRaed & e
TR |

OR (3reran)
Critically evaluate Psychodynamic and Humanistic perspective of

Personality. (15)
feFea & FERIE 3R AHaaTare gRie @t Sere-TeTs el &Y |

PRO.
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2.

Explain the Psychometric approaches to Intelligence. (15)
qf& o AsEriE giteehio St erer & |

OR (312rar)
Define intelligence elucidating the extremes of Intelligence. (15)

qfg 1 =R GBIl T FS §Y 9 I IR AR

Describe the nature of Self and Identity in Indian thought. (15)
HTH IR TBA B TOEY Tl ARAT HRAT T N Y |
OR (3rerar)

Discuss the different features that expand the notion of self in Indian
context. (15)

VRO aiveg ¥ 3o faeroer & faftr T aronay =5 fawr 3 == =%

Examine the motivational regulation of behavior according to Self-

determination Theory. (15)
e - ot gl & SR SR Fremr 29t e 981 Wi X |
OR (3r2ran)

“Creativity is a systemic rather than an individualistic process.” Discuss.
(15)

“TIATHRT Teh YOI 8 S o Uk aferaawes withar 2 17 == &¢ |

Write any two short nolt.'es from the following : (7.5,7.5)

e % & format st <t w foogolt foref

(a) Types of Self

AH & THR

(b) Self-regulation
w - e

(c) Emotional Intelligence
AT Ffeg

(d) Gender and Personality
for sk =afere

(600)



[This question paper contains 2 printed pages.]

Sr. No. of Question Paper : 1457 F Your Roll No................
Unique Paper Code : 213202

Name of the Paper . Paper — V (Critical Survey of Sanskrit Literature—1)
Name of the Course : B.A. (Hons.) Sanskrit

Semester : 1

Duration : 3 Hours : Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.

Bl & fog FHdw

1 T UE-TA @ fFen & W Ry e FuiRa e woswAr sshere fRag o

2 TE WIT- 99 1 IR e a1 B8 o v wren 7 GifSte, AfRT w IRl o A U
£ B =Ry |

Ws -1 (Section-I)

. FefoRaa ¥ & fl @yl &1 IR | (2x12=24)
Attempt any two of the following questions :

(i) 7 @ uf @ e R

Discuss the religion of Rgveda.
(i) sEe & aud - fawg W feoqon fofEw |

Write a note on the subject-matter of Atharvaveda.
(i) sTETT IR W e Ferw foriEy |

Write an essay on Brahmana texts.
(iv) Sufer ¥y ser-awa &1 fAd= il |

Discuss the concept of Brahman as described in the Upanisads.

PT.O.
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W -1 (Section-II)

2. TAwfoias % ¥ el 3 vt = 3= AR - (2x12=24)
Attempt any two of the following questions :
(i) e T & @A W T R )
Discuss the date of Valmiki Ramayana.
(ii) gﬁﬁwmﬁﬁm@ww%aﬁ-ﬁmﬂwﬁ%maﬁ%ﬂn

Discuss the main characteristics of Puranas and describe the subject matter
of Bhagavata Purana.

(iii) IUsier & B w7 F WEnRE 90 wter SR |
Evaluate Mahabharata as a resoure of literature.
(iv) WeRE & famm o fafrT seenst =1 fidas 9 |

Explain the different stages of the development of Mahabhirata.

3. ﬁmﬁrﬁaaffﬁﬁ‘fﬁhw%mﬂ%ﬁaﬁl%ﬁ%wﬁmﬁﬁ@aﬁﬁm%ﬁl

(3x7=21)
Write notes on any three of the following. One of those notes should be in
Sanskrit :

(i) wmEe

(ii)

(i)
(iv
(v

4. Frfafed & & feesl @ w afera oo R - (3x2=6)

Write notes on any two of the following :

(i) @Rt

aqde
St
e
wAifw

)
)

(500)



[This question paper contains 4 printed pages.]

Sr.No. of Question Paper : 1458 F Your Roll No................
Unique Paper Code 1 213206

Nz.lme of the Paper : Paper — VI (Self Management in the Gita)

Namt;, of the Course : B.A. (Hons.) Sanskrit

Semester o i

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.
2. Answer all questions.

3. Unless otherwise required in a question, answers should be written in Sanskrit or
in Hindi or in English, but the same medium should be used throughout the paper.

B @ fog Fdm

1 =W We-TE @ fem & R Ry w fFeia we w ao sawee fie )
2. Gt wEAl & IR RN |

3. 3O SNAEAE T BN W 3@ WIA-UF ol IR Gwhd a1 B A sideh Rt v W |
afSig; ue @ ST o WeAw TS B B =16y |

1 FefoRaa 9t e iR (5x7=35)
Explain the following :

(&) sfeafn woagRsas: ® & |

a0 gfedl e WA @

PTO.
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@t / (OR)
alfﬁw#wam‘famfa‘gaﬁaum
fefenes gorerreT 39 Sar wom 1)

(@) wAIsE avmy 7 ¥ I=ska T fg: |
ﬁﬂaﬁagﬁﬁwwﬁééﬂmu

JIET / (OR)
FHAAAIIFRRS A HAY Fer |
T AR o A Seeasmai oy 1)

(1) HeEEEtE W TR st |
AT TAT W MRSty 1)

AAAT / (OR)
IFTERIIERE Jaaaeeed 3y |
TGS AT Hafy e ||

() Pfey w=ees ar Ao |
T LT ATEART T4 i 11

32l / (OR)
A & AT e Ry
AT T NN oS TR A= ||
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3
(¥) FAAET= A A T e |
%wfﬁwfilgaﬂmﬂﬁﬂ@ﬂfwn
AT / (OR)

SR WSS 7 WS 1 ety |

mzﬁﬁg@g@ﬂ%ﬁaﬂ%mn

2 ﬁm%@lﬂwma}mﬁaﬂﬁmmaﬁ%m

Discuss the means of Self-Management according to the Gita.

YAl / (OR)

ST § ST ol T & 7 ST o HURNE < o1 fagemwr i |

What do you understand by Self-Management ? Explain basic elements of Self.

Management.

3 wwwaﬁgmﬁ%mwﬁwwaﬁﬁm

(n)

Explaining the nature of mind, give an account of root cause of mental

conflicts.

AU / (OR)
?ﬁiﬁﬁg%m@aﬁ‘faﬁaﬁwaﬁﬁm

Critically examine various clements leading to the attainment of yoga.

RO,
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4. Tr=fafaa o 7 el S w ool forfaw (18)

Write notes on any three of the following :

(i) srecem Wepld : Eightfold matter
(ii) ¥ =1 Fra=or Controll of mind
(i) fafeer @ Three fold penance
(iv) =nmm Practice of Yoga
(v) wweagfs Equanimity

(500)



This question paper contains 4+1 printed pages]

Roll No.
S.No. of Question Paper : 3991
Unique Paper Code : 12131201 FC-2
Name of the Paper : Classical Sanskrit Literature (Prose)
Name of the Course : B.A.(Hons.) Sanskrit
Semester ||
Duration : 3 Hours Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)
(39 999-7 & field & o feu mu fuifa e w e sgsas fafae 1)

Note :  Unless otherwise required in a question answer should be written in Sanskrit or in Hindi

or in English but same medium should be used throughout the paper.

femuolt : sraen sOvaE 7 W W 3W WA-UF 1 SR Gha of fe<t ar o foet
TF e # Sifey; dfe gt 3wl @ Aeem T @ s =ifeu

All questions are compulsory.
wdft e ifEd ¥
WrT-'<6’
(Part-A’)
1. fFefafea 4 9 f&dl @ &1 e #ifSQ . 2x5=10
Translate any fwo of the following :

() SsaeRuEion = SaanfagaquarTggitoenT | TeRiae g e
ae  foreEEIREE T AYaETat §E: | AeEfd 9 fogEe
FAMTYads: JeanReEern  fomemy | '

P16



(v) SENFAY  qEq weaomiafEe  wartdg JUAY | TF fg

Explain any two of the following with reference to the context :

() nﬁwwﬂwmﬁﬁgﬁ, e Eeame |

Discuss the importance of ‘ﬂ'&?qaﬂ' in youth age on the basis of YhHTEITI.




(=3} 3991
AT

(Or)

SUYE i HEA-YC HI FUA i

~ Describe the Poetic Style of Banabhatta.

-G’
(Part-‘B’)
frafafes # @ fodfl & #1 sigee wifsg @ 2x5=10

Translate any two of the following :

() 9: qOF: HUMYM: W YEEEH, TRYT YSIHHTOIAEY | AeA A e
TN eEfRErEeETseq |l ¥ WA gggisfy 395 Uil Ages 4w |
TFe w aglEd AW ufege:, gt aeEd: WeNaEnTe |

() | AREM JAR—'®isE AR 31 @RE gea—''T e Isfoarert
rarifeehl gueHAania | arg faueeraaiatiaed  qecdl gRhany

GIESSIC AR 10 MG 1 B 1 o GO Tk IR R R e A 1 A i e 1 ]
wfey eihuey: dfiwr doaudta g adeasdemr’’ gl

iy Wt f& 3 <ol w1 oW, wEM @aeE, e W M) S =
e T SRR Tdde e e e e A
ISR Yoot | fepfeayaa ae=nfsiammm: fHad |

(v) SAAgg wiean ‘3fass, 79 fedivdsme &t waw=a:| ‘fwfufa
| TEfeEea s T weReriafeg s RO s
TS YU AfEed, SEESHUE TiEEae SegkaH |

P.TO.



( 4) 3991
Eﬁmmﬁmmwwaﬂ%@aﬁéaﬁm%wm
IS | 10

Discuss' the meaning of 'gfUeH; qﬁ'ﬂm’, and write a note on the poetic style of
Dandin.

3reen
(Or)
fagafd & MuR W amfad & SWw & que @i

Describe the teachings of Vasurakshita on the basis of Vishrutcharita.

T TR 1, 2 W 4 & R Ui Yefemd W W s o

forferd | T
Write grammatical notes on any five of the underlined words in Question Nos. 1, 2 & 4.
-7’
(Part-‘C)
U&pd T % IEd Ud 9 F oW i 10
Describe the origin and development of Sanskrit Prose.
3TeET 5
(or)

fefafee 4 @ &€l & w foooft fafed

Write notes on any two of the following :

gy, Revsifasy, smvg, wd=Ria)




8.

3991

(2 2)
T Afwd & Iga @ foem @ ogwEm e

Discuss about the origin and development of 'F.Eﬁ Hifaendr’.
3gar
(Or)

freafafed 4 4 f&dl @ W feuot fofed

Write notes on any fwo of the following :

fediew, gqeuwden, foerAgItmER, SrmeaEfewiae |

3991

10



This question paper contains 4 printed pages]

Roll No.
S. No. of Question Paper : 3992
Unique Paper Code : 12131202 ‘ FC-2
Name of the Paper . Self Management in the Gita
Name of'the Course : B.A. (Hons.) Sanskrit
Semester i | |

Duration : 3 Hours Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)
(39 W3- < T € S fa e feifa ©m w s s fafan 1)

Note :  Unless otherwise required in a question, answers should be written either in Sanskrit

or in Hindi or in English; but the same medium should be used throughout the paper.

- fewult : s sTvEE 7 W W, WE-TF w1 SR gwpa @ <t wr st fed

e e e e e e = PR

. frafafen =t = men sifvw .

@Wﬁﬁﬁq;wwﬁwﬁmmm@ﬁ@maﬁq |
All questions are compulsory.

et w9 w1 stEe §

5x7=35

Explain the following :
(%) sfsafn quoagfifsdw: ® m9. |
Y W s g8 Wasg @:ol

P.T.O.




JiEaisTel 9g: @ T dfgd 9 |
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Discuss the role of Buddhi and Atma in the process of Self-Management according to
the Gita.
AYgar
Or

il % YR W AEYSEE' $ WEY @ 9uF FIfT |

Discuss the nature of Self-Management on the basis of Gita.
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Discuss the characteristics of three Gunas and explain the importance of Sattvika diet in
the life.
HYdr
Or
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HifeT |

Discuss the relevance of devotion in controlling the mind from conflicts on the basis of Gita.
ﬁmﬁrﬁaaﬁﬁﬁ#fﬁqmﬁmﬁmﬁm?%q: 3x6=18

Write short notes on any three of the following :

(i) ATy : (Practice of Yoga)

@) Tafay qg . (Three types of austerity)
(iif) TTE gfg : (Rajasi Buddhi)

(v) A Td RFY (Practice and Dispassion)
(v) YEHTH-IRO (Shelter of God)
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Roll No.
S. No. of Question Paper : 1872
Unique Paper Code : 230202 F
Name of the Paper : Sociology of India-11
Name of the Course : B.A. (Hons.) Sociology
Semester : 11
Duration : 3 Hours Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)
(29 99-T9 & foen & Fw Ry o fuife = W s sgwae fafey 1)

Note :  Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.

ﬁmﬁ.:wm—wﬁwaﬁsﬁm%ﬁ%@wwﬁaﬁq;ﬁmmﬁm
FT WEAH T & el =Rl |

Answer four (iuestions.
Attempt three questions from Section ‘A’
and one question from Section ‘B’.
Questions from Section ‘A’ carry 55 marks

and questions from Section ‘B’ carry 20 marks.

aR Y & W SN
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Section A 55 marks
(@ug ‘3
Discuss the role of social and political elements in creating the spirit of nationalism.

Wﬁm%ﬁﬁmﬁmmmﬁmﬁaﬁmaﬁﬁéﬂ
HifeTg |

Briefly highlight the nature of class mobilization in peasant movements in India.

WG H FeE-dider # o e amedt @ wEh W w@dy § g
Sifera |

Examine the various strands in the development of the women’s movement.
TA-NeH B fomm § sgwt fafis qs 1 whe i

Des;:ribé the processes of sanskritization and westemization in- bringing about social change
in India. I

'Wﬁmﬁmvﬁaﬁaﬁﬁu@ﬁmmmwﬁaﬁwﬁ%w
U HifST | |

What is communalism ? Trace the rise and growth of communalism in India.

Wﬁmw%?wﬁméqu&;ﬁm
Hifgu |
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Section B 20 marks
(@ug ‘¥
6. To what extent is the subaltern discourse a critique of the colonial discourse ?

fr=reniia famel (Subaltern discourse) fh® & % siufvafers fomst =1 sye=
€ ?
7. Is secularism an answer to India’s religious pluralism ? Discuss.

wuﬁﬁﬁww%mﬁawww%?ﬁéﬂﬁmn
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Sr. No. of Question Paper : 3995 FC-2 Your Roll No....c.cceeerenen
U 9 I ThHlh BT HAHHIS............
Unique Paper Code : 12301201

PIEECTE

Name of the Paper : Introduction to Sociology II

Name of the Course : B.A. (H) Sociology

Semester / Annual e

WIEeY / A . e

Duration : 3 Hours Maximum Marks : 75
T ;3 W i quiteR @ 75

Instructions for Candidates

Write your Roll No. on the top immediately on receipt of this question paper.

2. Answer any Five questions.

3. Section A attempt any three. Section B attempt any two.

4. Questions from Section A carry 20 marks and questions from Section B carry 15
marks

5. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.

Bl » fau Fdo

L Y- & fad IR Ry e FeiRe we w s s faRag |

2. f&=8t diar vl & IR dfw

3 WS HAA YA U R @ T H A &yl & IR afg

4, WEIAHWHL20 FAF F AM @I T H 15 3iF & 2 |

5 A UIT-UF &l I e A1 B fFA v s F e, dfe @ 3=)) o wemw v

B B =R |
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SECTION A (@Ws 1)

(Attempt any three.)
fa=1 = o & IR oy |

1. Theories and concepts help in understanding sociological perspectives.
Elaborate. (20)

frgid U9 FEURIIY FHSTIEAT IRGTA h W H qEEd © | e S |

2. Functionalist perspective views stability and equilibrium as necessary social

phenomena. Discuss. (20)
YA uRded Tl 9o A I SNGwh R Techl aht ST owe 8 | e
Hitorg |

3. Discuss the relevance of subjective meaning as emphasized by interpretive

sociology. (20)
RETHE GASITEs favag o) &) aniferear W ey @ 3ar 2 1 fadeer i |

4. How does interactionism contribute to the understanding of everyday
life ? (20)
Fiatarare e war e SiaT 9 g9 A IREE o 2 7

5. Examine Structuralism as a sociological perspective. (20)

FERETEE ke @ €9 ¥ GEHEe S 938 iy |

-

SECTION B (W@ 9)
(Attempt any one.)

fedl Uk 939 & IR GV |
6. The conflict perspective regards the functionalist perspective as Utopian.

Comment. (15)
wod uften yedar oRYen o wreafie A @ 1wt

OR (3rerar)

7. How is the classical theorist understanding of society has been challenged by the

feminist perspective ? (15)

TS & W deie dHe 6 AErE) aRdey Y I o 8 7
(600)



[This question paper contains 2 printed pages.]

Sr. No. of Question Paper : 3996 FC-2 Your Roll No.......ccccc.ue.
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Unique Paper Code : 12301202
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Name of the Paper . Sociology of India Il

Name of the Course - B.A. (Hons.) Sociology

Semester / Annual 11

JAee / H - fadra

Duration : 3 Hours Maximum Marks : 75
W ;3 °e quites : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt Four questions from the paper. One question from Section A, Two
questions from Section B and One question from Section C.

3. Questions from Section A and B carry 20 marks and questions from Section C
carry 15 marks

4.  Answers may be written either in English or Hindi: but the same medium should
be used throughout the paper.

B & fou FEw
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SECTION A (@S )

1. What is Indological approach ? How has the Sociology of India been influenced
by Indological studies ? (20)

R - ey SUNE 1 2 7 SRT &1 aHeTe 6 YehR 9Rd - e sreaaet |
y¥Ifead @1 8 7

2. Discuss Ambedkar’s critique of the caste system in India. (20)

R ¥ T a8 FEEseR gRI el o e o o

SECTION B (@s 9)

3. Critically examine the growth and major challenges faced by the women’s movement
in India. (20) .

R A SN SReT @ fAew 9 Sue R gAHal S STEEeTE . GaeT e |
4. Do you think that the nature of Dalit politics has changed over the years ?
Discuss. (20)
a1 T A R o aw ¥ efom it o vl H aitads gam 2 7 e @ )
5. Analyse the interrelationship of agrarian classes and peasant movement in
India. (20)
HfE GO TAN FUF AT B R -G H fAweor ¥ |

SECTION C (@S 9)

6. Indian nationalism can only work as a pluralistic notion. Elaborate. (15)

R TCAle DA SEATE Gehed & ¥ A & o o Fdhal 8 | R Y |

7. Discuss the role of religion in shaping communal sentiments in Indian
society. (15)

R N G TS o S oA W eRl ) sifdem &1 faase WY
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